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CAT 3 1999

Case study

The Keen Loan Company have branch offices in most cities and provide loans for people wanting to buy cars, boats and other items. Currently, when a customer applies for a loan, the following procedures apply.

· A consultant helps the customer to fill out an application form with their personal details.

· The details are entered into the computer at the branch.

· The details are transferred to the company’s central computer through their network.

· The consultant checks the size of the loan request against the value of the item to be purchased with the loan.

· The consultant uses a computer connection to another company called the Little Credit Check Agency. 

This agency keeps a list of people who have not repaid loans. This computer connection is used to see if the customer has credit problems.

· The consultant types all the information from the application form and the credit check computer into the branch computer. The central computer makes a decision on whether the loan should be granted.

· The customer is then informed on the branch computer screen that their loan has been approved or rejected.

· Approved loans result in a contract being signed at that time. A cheque for the amount of the loan would be posted to the customer the next day.

It is proposed that a new system be implemented to allow people to obtain loans from the company and that most branch offices be closed.

The new system would mean people who wanted a loan could contact the company at their Internet site on their home computer or a public Internet computer such as in public libraries. This system would use the current central computer in the same way as the old system.

When applying for a loan with the proposed new system, the following procedures would apply.

· The person would type their details, the amount of money they wish to borrow and the item they want to buy onto an Internet page.

· The new system would check the size of the loan against the value of the item to be purchased.

· The proposed computer system would then check the person’s details with the Little Credit Check Agency.

· The central computer would make a decision on whether the loan should be granted.

· The customer is then informed on the Internet page that their loan has been approved or rejected.

· Approved loans result in a cheque for the amount being posted to the customer the next day.
Question 1

Of the following information processing phases

· input

· manipulation (or processing)

· communication

which phase will be most affected by the new system?  Describe the way in which the phase will be affected. 

Question 2

It is anticipated that the new system will cut the cost of handling loan applications.  Explain how the new system could cut costs.

Question 3

The system will be developed by the creation of new components to perform tasks such as answering Internet enquiries and performing checks automatically. These new components would then be joined to each other and to the existing components.

a. Identify this design strategy.

b. Explain

i. an advantage of this design strategy

ii. a disadvantage of this design strategy.

Question 4

Describe two legal implications of using the Internet in the loans process.

Question 5

A study has found that while 90% of potential customers have computers, only 40% are connected to the Internet. To overcome the problem of many customers not being connected, the company has two proposals.

Proposal 1 A set of modems and software be purchased and loaned to any potential customer for two weeks for them to use the system.

Proposal 2 A floppy disk with software be posted to each customer without Internet access. The customer would then run a computer program that allows loan information to be typed and stored on the disk. The customer would then post the disk back to the company.

Explain two disadvantages of each proposal.

Question 6

In investigating the option of buying modems it is found that two well-established local companies with good reputations and the same warranties have offered to supply the same brand and types of modems. Describe two factors that you would use to choose between these companies.  Explain why each factor is important to the decision.

Question 7

The new system will require hardware that can accept data from one hundred Internet requests each minute.  a. What test would you perform that would check that the speed of the hardware met the system requirement?

b. What test would you perform to ensure that data gathered from the Internet was accurate?
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Case Study - 1998

Pinnacle Practice is a company that manages doctors' clinics. When a patient visits the doctor the details of their problem are currently written by the doctor on a piece of paper which is kept in a folder with the patient's name on the outside. When a patient visits the doctor again their folder is taken out and new visit details are recorded. This method of inputting and storing information makes it easy for doctors to see what has happened to a patient in previous visits.

The management of Pinnacle Practice would like to record the types of injuries or illnesses of patients visiting all of the doctors' clinics. Analysis of these records would show what medicines and equipment are needed at each clinic so that the appropriate amounts can be stored in each clinic. The present system makes this difficult. Therefore, it is proposed to change the input and storage of patient information.

Doctors will have a computer touch screen and keypad in their rooms. The touch screen accepts input by being touched with a finger. The doctor will enter the patient's number on a keypad and be shown any information from previous visits. On the screen will be a large diagram of a human body. The doctor will press the screen on the part of the body with which the patient has a problem. The screen will then show a list of common problems that could happen with that part of the body. The doctor will examine the patient and press the item on the list which is closest to the problem. A list of treatments will appear and the doctor can choose one by pressing the screen. The part of the body, problem and treatment will then be stored. Choosing from standard lists makes it easy to count numbers of people for each treatment. This information can be used to count the amounts of medicine and equipment used at each clinic.

Question 1

The touch screen entry will change the way in which data is input by the doctors for each patient visit.  Describe the impact of this new input method on

· speed of data entry

· accuracy of data entry

· the range and type of data that can be entered.

Question 2

Describe the way in which the new information system will contribute to the following organisational goals of Pinnacle Practice.

· allowing doctors to efficiently record and retrieve all details of a patient's medical history

· ensuring appropriate amounts of medicine and equipment are stored in clinics

Question 3

The new system of inputting, storing and analysing patient visit information will be designed using a top‑down

strategy. Describe what using a top-down strategy means for this system.

Question 4

Describe three possible implications for patients arising from the introduction of the new system.

Question 5

It is proposed that there be no disk drives in clinics and that all patient information be transmitted to a central computer over high quality communications lines. Give two advantages and two disadvantages of this proposal.

Question 6

Computer software that can be used to connect touch screens to the system is needed. Describe in detail a compatibility issue that needs to be considered when choosing touch screen software.

Question 7

There are many touch screens from which to choose. How would you test the speed and accuracy of each of the touch screens for data input purposes?

Question 8

It is expected that there will be less work for receptionists in the new system Jo Griczk has been a receptionist who would have the job of changing and adding medical problems and treatments to the lists in the system as changes became necessary. This is done using a menu driven computer program written by the system suppliers.

i.
Who should train Jo Griczk?

ii.
What should be the content of Jo's training?

Question 9

Clinic doctors and Jo Griczk will be supplied with quick reference cards. For each type of user, describe what should be included in the content of these cards. Your answer should clearly show the differences in content between the cards for each user.

Question 10

Assume that the system has been implemented and the computer hardware and software are running properly. You wish to test if the system is meeting the organisational goals as stated in Question 2.

i. What data would you gather?

ii. How would you collect this data?
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Case Study - 1997

Americ Books is a supplier of books to secondary school students. A computer system in the sales area is used to keep details on each book ordered. The student name, school, book number, delivery, amount and method of payment details are recorded and used to ensure that all ordered books are sent out and paid for.

There is a second, separate computer system located in the book returns department. It is used to process requests for refunds from students who have returned books. This system records student name, school, book number, date of return and book condition.

Each of the computer systems produces printed reports. An employee, David Leung, takes the printed reports from each system. He then performs three tasks.

1. He checks whether payment has been received for the books.

2. He calculates the refund to be made, based on the data showing the price and condition of the books.

3. He ranks schools according to the number of books returned from each school.

David suggests that the two existing computer systems should be combined to form a new system. This combined system would continue to use the existing computers, in their present locations, for data input. David believes that it should be possible for the three tasks he performs with the printed reports to be carried out by the new system.

Question 1

Detail the steps required, with the existing system, for David Leung to carry out the manipulation phase of information processing when

a. he checks whether payment has been received for the books

b. he ranks schools according to the number of books returned from each school.

Question 2

Describe three organisational goals which can be achieved by adopting the new computer system.

Question 3

David has suggested that all of the hardware and software components of the two existing systems have been working reliably for several years. His plan is to develop additional components needed for the new system and join them with the existing components. A systems analyst has advised that it would be difficult to join together these components.  Outline an alternative to David's design strategy.

Question 4

What are the implications for management, staff and customers of the change to the new system?

Question 5

One way of combining data for the new system is to keep sales and returns data separate and to write programs to compare the data. An alternative is to combine the two sets of data into one database. Which alternative would you choose and why?

Question 6

Assume that the book supplier has decided to employ the services of a company to write software specifically designed for the new system. 

Describe three important factors to be considered when choosing between software‑writing companies.

Question 7

The design of the new computer system requires the purchase of a new printer. There is a range of printers available. How would you test these alternative printers

i. against system objectives

ii. for stated capabilities

iii. for robustness?

Question 8

Management has decided that David Leung will be re‑assigned to the role of system manager and will be responsible for the smooth operation of all elements of the new system.  Managing Director Janine Pettigrew will now receive the printed report directly from the system.

For each of these individuals, explain what they will need to learn.

Question 9

Assume that the way data is entered in the system changes from keyboard input to a combination of bar code reader and mouse. When designing supporting documentation for data entry personnel, the following factors need to be considered.

i. appropriate content and level of documentation 

ii. format of the documentation

iii. who would be responsible for producing the documentation

For each of these factors. indicate what decisions you would make in relation to the documentation provided.

Justify your responses.

Question 10

What would you measure in order to evaluate the efficiency of the new system? Justify your response.
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Case study – 1996 CAT 3

The Dentists Association in a city called Oakville has noticed an increasing number of teenagers in the town who are suffering from very discoloured teeth. Association President, Kerry Smith, wants to create an information system to gather existing data from the computer records of the Oakville dentists. The goal of this system would be to provide relevant information to the dental researchers at Oakville University who want to identify the likely causes of tooth discolouration.

The dentists in Oakville currently use a variety of hardware and software packages to store patient data. All of these packages store each patient's personal details, the reasons for each visit and the results of each dental examination. A common code 'TD' is used by all dentists to describe the condition of tooth discolouration.

For the new system proposed by Kerry Smith, each dentist would require a modem. Data would be transferred via these modems to a central computer at the Association's headquarters in the following way. Software installed in the central computer would dial up each dentist's computer, read all data relating to patient visits which have taken place since the last collection of data and add that data to a central file. The software would then check through the central file and extract the details relating to every case of 'TD'. The addresses of these patients would be plotted by the computer system on a map of Oakville. The map would then be sent to the research department of the Faculty of Dentistry at Oakville University.

Question 1

From this case study, describe how the central computer carries out the following phases of information processing. 

i. Input

ii. Manipulation

iii. output

Question 2

The citizens of Oakville are hoping to see a speedy reduction in the number of teenagers suffering from discoloured teeth.

a. How does this goal, as expressed by the citizens of Oakville differ from the system goal as described in case study?

b. To what and in ways, ways, might the proposed information system contribute to the achievement of the system goal as described in the case study?

c. To what extent, and in what ways, might the proposed information system contribute to the achievement of the goal as expressed by the citizens of Oakville?

Question 3

One Oakville dentist, Richard Brown, suggests that the Association should purchase network software, hardware and mapping software and employ an expert to link these components into a system.  Another dentist, Caroline Wilson, suggests an alternative approach. She thinks that the Association should employ an expert to identify goals, break the system into its components and then use this information to specifications.

a. How do the above two approaches to system design differ in the way they seek a solution?

b. What are two advantages of each approach?

Question 4

The Oakville University Faculty of Dentistry has written to the Association asking for (in addition to the map) the personal details, including names and addresses, of all 'TD' patients. 

a. Present a case in support of this request. 

b. Present a case opposing this request.

Question 5

The issue of the disposal of data was discussed at an Association meeting. One proposal for dealing with this

issue is that each month all data is transferred from the central computer to a backup tape which is stored in a

locked cupboard in Kerry Smith's house. An alternative is to immediately delete all extra data other than that

relating to 'TD' patients.

a. List two advantages and two disadvantages for the first proposal.

b. List two advantages and two disadvantages for the second proposal.

Question 6

Apart from compatibility, describe four important factors which should be taken into consideration by dentists when purchasing modems.

Question 7  

There is a range of hard disks available to be installed in the central computer. How would you test these alternatives

i. against system objectives 

ii. for stated capabilities

iii. for robustness?

Question 8

The Association's Secretary, Dinh Nguyen, will operate the system and answer questions from dentists regarding any problems. He will have available a range of system support personnel employed by the software suppliers. Although he can use these people, he will require training in how to recognise each reported problem and the appropriate response. The following training strategy is proposed.

The training program would take place during working hours for one hour per week for the three months immediately following the implementation of the new system. The program would be provided by the training department of the system suppliers. It would involve hands‑on use of a working system similar to that to be installed in Oakville. Activities that solve common system faults would make up most of the training program.

Comment on the suitability of this training strategy.

Question 9

What factors need to be considered in designing supporting documentation for the implementation of the system? In your answer, take into account the needs of the patients, dentists, Dinh Nguyen, university research staff and the system support personnel referred to in Question 8.

Question 10

Explain how useful each of the following activities would be in evaluating the success of the implementation of the system.

i. a survey of patients asking whether or not they are satisfied with the system

ii. analysis of all reports of communication breakdown between the central computer and the dentists' computers

iii. manual checking of a sample of maps to check that they are accurately plotting the data

interviews of Oakville University dental researchers to determine if the maps are useful

1995
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INFORMATION PROCESSING AND MANAGEMENT

Common Assessment Task 3: Written examination

Case study

Toys Galore PtyLtd distributes toys to toyshops in all parts of Australia. The company needs to keep shop managers informed of any price changes, the availability of existing and new toys and the details of any future advertising campaigns. Currently, this information is provided to Toys Galore sales staff in a word‑processed report called the Sales Staff Monthly Update. The sales staff travel the country passing on this information to shop managers and taking orders.

The management of Toys Galore have decided to introduce a glossy, coloured newsletter which will be posted to all toyshops. They see the newsletter as a way of improving communication, promoting customer loyalty and reducing the number of times each year that sales staff need to visit shop managers. It is important that this newsletter be attractive, informative and accurate.

To produce such a newsletter from the information contained in the Sales Staff Monthly Update, it will be necessary to design an appropriate layout, print the final newsletters and post them to shop managers.

One possible way of designing the newsletter is to obtain the necessary hardware and software to desktop publish it in the offices of Toys Galore and then give it to the Slade Printing Company, who would print the newsletters.

Another way is to give the text to Davey Graphics Pty Ltd which would use its personnel and equipment to design the newsletter. This could be checked for accuracy by Toys Galore before being passed on to Slade Printing.

Davey Graphics argues that producing a quality newsletter requires their expertise and specialist equipment. Manager William Davey comments, 'We've been designing magazines and newsletters for many years, both before and after the introduction of computerised desktop publishing. Getting a good result is not just a matter of transferring text from one computer to another and adding some pretty pictures. You have to arrange the text so that it is interesting and appealing to the reader and present it in a way that can be understood, otherwise companies like Toys Galore won't achieve their goals'.

Of the current staff at Toys Galore, no‑one has any experience in desktop publishing. Sally Smith, one of the company's accounts staff, has had extensive experience using spreadsheets and accounting packages and would like to try desktop publishing.

Question 1
Describe how the following phases of information processing would be affected by the introduction of the newsletter. If a phase is not affected then write 'Not affected'.

i. manipulation

ii. data acquisition 

iii. communication

Question 2
Identify three organisational goals which can be better achieved through the introduction of the newsletter and explain how the newsletter will help achieve these goals.

Question 3

a. What should Toys Galore measure to determine the extent to which the newsletter provides a more efficient method of keeping shop managers informed than through visits by sales staff?

b. Would the measurements suggested by you in answer to 3a. also be used to determine the effectiveness of the newsletter in improving the quality of information provided to shop managers? Justify your answer.

Question 4

Toys Galore decided to include a questionnaire with the first issue of the newsletter. The questionnaire asked shop managers to comment on whether they found the newsletter to be attractive, informative and relevant to their needs. This is the only method of evaluation Toys Galore plans to undertake.

Is this an appropriate and adequate way of evaluating whether the introduction of the newsletter has been successful?  Justify your answer.

Question 5
Based on the information contained in the case study, would you recommend that Toys Galore undertake to prepare the newsletter ready for printing, or should it employ the services of Davey Graphics to prepare the newsletter? Justify your recommendation.

Question 6

Assume, for the purpose of this question, that Toys Galore decides to prepare the newsletter itself. This will involve the design and development of an information system.

The following two suggestions for designing the in‑house system have been made. 

i. Send Sally Smith to investigate a number of alternative desktop publishing systems.  Ask her to compare the output of each system and to recommend what hardware and software should be purchased.  Purchase the recommended equipment and use it to prepare the newsletter.

ii. Bring in a desktop publishing expert to examine the purposes of the newsletter Get the expert to prepare a list of hardware, software, procedures and personnel appropriate to achieving the purposes identified. Purchase the recommended equipment and use it to prepare the newsletter.

a. Provide two significant advantages for adopting suggestion 6i.

b. Provide two significant advantages for adopting suggestion 6ii.

Question 7
Assume that Toys Galore decides to design the newsletter itself, and that the only useful equipment it already has is a laser printer capable of producing drafts of the publication. 

Answer the following questions and give reasons for your answers.

a. Can Toys Galore assume that it will be easy to get its existing printer to work with any hardware and software combination?

b. Once Toys Galore decides what hardware and software it wants, is it just a matter of finding the cheapest supplier?

c. What issues are involved in software choice for Toys Galore other than whether the software can produce the output the company requires?

Question 8

Assume that Toys Galore decided to get Sally Smith to prepare the newsletter in‑house, and that it recognised the need for her to undertake some training in desktop publishing.

Two weeks before the first newsletter was due out, Toys Galore paid for Sally to undertake a three‑day advanced desktop publishing course. Sally was one of 35 students coming from many different industries. The course was led by an instructor who covered all the specialised functions of the software. Participants worked through preset exercises and were supplied with a technical manual.

Comment on the appropriateness of this training.

Question 9

Davey Graphics has just purchased a new desktop publishing software package. It came with the following documentation.

· a quick reference guide

· a simple introduction to the package

· a user's guide

· a technical reference manual

Explain the purpose of each of these four different types of publications.

Question 10

a. Assuming that Sally Smith is made responsible for preparing the newsletter, discuss what impact this change is likely to have on Sally's present and future career.

b. Provide a further example of the way in which the introduction of new technology has affected the career of a particular employee or group of employees within an organisation you have studied.
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Case study - 1994    (1½ Hr)
Robin Secondary College provides academic reports to parents twice a year. A report is prepared for each student in each subject. Each report contains a written comment by the teacher. The reports are either handwritten or typed by teachers on a pad of forms which provides a common layout and a duplicate copy. The subject teachers hand their reports and the duplicate copies to the relevant home‑group teachers. The various subject reports for each student are checked by that student's home‑group teacher, collated and placed in an envelope for distribution to parents. The duplicate copies for each student are stored by the office staff, in filing cabinets, in the college's central office.

A college committee has recommended that a new computerised system of reporting be adopted. This system would involve the college using a school reporting system called Report Writer Magic. This system will allow teachers to record their results and comments on floppy disks using stand‑alone personal computers. Office staff will collect the completed disks from teachers and load the data into a central database, held on a newly purchased computer, in the central of rice. Once all of the teachers' disks have been collected and loaded, reports will be printed by the of lice staff using a print layout designed to look similar to the existing reports. The printed reports would be passed back to the home‑group teachers to be checked and distributed to parents.

Some teachers already use a computer and word processing software to create and print their comments on the forms provided by the college. Various types of equipment and software are used by these teachers.

The college itself has a number of Apple Macintosh and IBM compatible personal computers. There are both Macintosh and IBM versions of Report Writer Magic and the two versions are very similar to operate. The committee has recommended that both versions of the software be purchased. About half of the college's teaching staff have their own personal computer, but there is a wide variety of makes and models.

Question 1

Those in favour and against the change have presented a number of arguments which focus on different elements of the Information Processing Phases, including:

· Existing reports are often poorly presented.

· It is time consuming to locate paper copies of reports.

· Many teachers do not have keyboarding skills.

To which element of the Information Processing Cycle does each of the above arguments most closely relate?

Justify each of your choices.

Question 2  

Explain how the proposed change would affect the existing operating procedures of the office staff.

Question 3

Identify and explain three important issues relating to hardware and software compatibility which must be considered when evaluating this proposed change.

Question 4

When finances permit, the central office could be linked into a larger personal computer network in the college. This would allow data to be accessed from various points around the college. What concerns would you have regarding data security and what recommendations would you make in relation to this issue?

Question 5

What further information would be important for you to have before you reached a conclusion about whether the proposed change should be adopted?

Question 6

List three assurances you would seek from the supplier of Report Writer Magic before you would recommend them as a supplier of software to the college.

Question 7

Assuming that the new reporting system is in place, how should the college evaluate whether or not it is proving to be a more efficient method of preparing and distributing reports?

Question 8

Larry Smith is a senior member of the teaching staff. He has always been proud of both the quality and presentation of his handwritten reports. He has no experience in the use of computers and no particular interest in learning how to use one, although he can see some advantages in storing student‑performance data electronically. Larry and a number of teachers with similar views have written to the principal seeking to be exempted from the new system.

Prepare a training strategy which is designed to overcome the concerns of these teachers and provide them with the skills necessary to take advantage of the new system.

Question 9

Choose one of the following groups and indicate what factors need to be considered when designing documentation to support the change for that group. Describe the type/e of documentation vo,. wo''lA nrr~viA~ friar that Or IF the proposal discussed in the case study was adopted.

· teachers

· office staff

Question 10

Assuming the decision has been taken to use the new reporting system, when would you who would you involve in your evaluation? Give reasons for your responses.
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CAT 3 - 1993  (1½ Hr)

Case study

Lookemup is a company responsible for telephone number information in the country of Never land.  Currently the company gathers the telephone numbers, stores them on computer and publishes them in the form of telephone books.  There are more than two million entries in each book.  The books are expensive to print and are delivered to customers by a fleet of trucks carrying approximately five hundred books in each load.  The distribution of books throughout Neverland takes a month.

The company is confident that the data they are providing is accurate and up to date but they are concerned that delivery of the books is slow and expensive.  They are also aware that modern technology exists to enable customers to access the telephone numbers more efficiently and at less cost.  For these reasons, Lookemup is considering two new alternative system for providing telephone number information.

The Infochip is an electronic chip which can hold 50 megabytes of data.  It plugs into a standard chip socket in any microcomputer capable of running under the Thomas operating system Version 9.  The majority of personal computers in Neverland can use this operating system.  Software has been developed which will allow access to the data held on each Infochip.  The suppliers of Infochips have said they will provide data transfer between Lookemup and Infochips over the telephone in the future.

Infochips have a very low failure rate once they are installed.  However, until they are put in place, Infochips are very fragile and may be harmed by dust, heat and static electricity.  They require expert installation by trained personnel.  Infochips can be produced for $1 each and would be supplied to users annually.  An individual telephone number can be found in less than a second because Infochips connect directly into the circuit board of a computer.

Data cards are new storage devices about the size of a credit card.  Each Datacard can hold 500 megabytes of data in the form of telephone number information.  A telephone number can be found in approximately 10 seconds using a specially designed Datacard reader.  These readers can be mass produced for about $600 each but they can only run the software required to read Data cards.  The readers come equipped with a printer connection.  Subscribers would only need to buy one Datacard reader and their Datacards could be updated annually.

Datacards would cost approximately $2 each to produce.  They are very tough and cannot be harmed by normal handling.  They are easily inserted into the Datacard reader and come with their own dedicated software already installed.

If Lookemup decided to introduce Infochips they could decrease the size of their truck fleet by half as the Infochips are less bulky than the books currently in use.  The delivery of Datacard readers would require all of the present fleet trucks in the first year but Datacards could be posted to subscribers in subsequent years.

Question 1 

a. Identify the stage/s of the information processing cycle that Infochips and Datacards are designed to improve.  Give reasons for your answer.  

b. What are the reasons for considering alternatives to the present information system?

Question 2 

In what ways would Lookemup’s present operating procedures need to change if the company decided to use Infochips?

Question 3 

a. Describe two important strengths of each of the new alternatives.  

b. Describe two important weaknesses of each of the new alternatives.

Question 4 

Briefly describe the compatibility issues raised by each of the new alternatives.

Question 5 

Which new system would you choose?  Give reasons for your choice.

Question 6 

If Lookemup decides to use Infochips but wishes to do so without retrenching staff, it will be necessary for their present delivery staff to be re-trained so that they can install Infochips.  Identify types of training that would be appropriate for these staff members and briefly explain why your training strategy is suitable.

Question 7 

Assume that Lookemup decides to use Datacards to improve the information system.  

a. Identify and briefly explain three factors which should be considered when preparing the documentation to be distributed to the users of this information system. 

b. List three types of ongoing support Lookemup will require from the suppliers of Datacard readers.

Question 8 

If Lookemup chooses the Datacard option, how could the company evaluate the efficiency, effectiveness and reliability of Datacards and Datacard readers after its introduction?

1992
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Smartcase

Footloose is a company which makes shoes in Melbourne and sells them to retailers all over Australia.  Its thirty-member sales team travels extensively throughout Australia during the week, calling on retailers to obtain orders.  Every Friday night they phone the orders they have received into head office where two clerks write the details on to order forms which can be sent to the warehouse.  Each month the clerks manually collate the sales figures and pass the details onto the accounts department where the data is entered into a central computer.

At a recent Board meeting, Mrs. Thong, the managing director of Footloose, said that she was concerned about the delays that existed in filling orders and collating sales figures.  She said that the existing system is too slow, too labour intensive and errors are likely to made.

In response to this criticism, the Board is considering the adoption of a new information system to process customer orders.  the proposed system would involve giving each member of the sales team a new electronic briefcase called Smartcase.  Apart from performing the usual functions of a briefcase, Smartcase contains a computer which case store, transmit, receive and display  data.  Data can be entered directly by using a keypad which flips out from the inside lid of the briefcase.  The briefcase can receive electronic mail concerning information such as new product details and it allows communication between members of the sales team and head office.  

Smartcase is an integrated hardware and software system manufactured by only one company, Small Solutions Pty Ltd, which is based in Taiwan.  The briefcase is sold through a Sydney dealer named Switched on Briefcases Pty. Ltd who began operation six months ago.

Each briefcase costs $4000 and Switched on Briefcase will charge a flat fee of $3500 to make the necessary modifications to the central computer in the accounts department.  Footloose will need to borrow the bulk of the funds required to set up the new system.

It is believed that after installation, the new system would operate as follows.  The members of the sales team could enter orders as they are obtained by typing the data into Smartcase.  At the end of each day, they would then plug Smartcase into any normal telephone point.  The briefcase could upload the relevant data into the existing Footloose central computer via the new modem purchased to allow communication between Smartcase and the central computer.  The software which runs Smartcase does not store files according to the same structure as the existing central computer but Small Solutions Pty Ltd will develop a conversion program for an additional fee.

The Footloose central computer has been owned and operated by the company for some time but has only been used for accounting purposes.  Under the proposed system, the central computer could receive the orders and automatically transfer the details to the company warehouse.  Sales details and other financial records would be instantly updated.  Smartcase will also allow sales staff to query the central database to find out the availability of stock before taking orders.  The central computer could also send out information for customers regarding stock availability and supply dates which could be read on the Smartcase visual display units.

Smartcase gets its power from rechargeable batteries but has no permanent memory capabilities or disk drive attachments.  Data requiring permanent storage must be unloaded to the central computer where it can be stored, backed up or achieved.

Some preliminary discussions have been held with Bill Slipper, the sales team representative and longest serving member.  When Bill heard of Smartcase he expressed great concern.  He felt that he was already doing a good job and that ‘this fancy new machine would give the young kids on the sales team an advantage’.  Bill also has an eyesight problem and is concerned about losing his job because he finds it difficult to read the liquid crystal display.

Section A

The Board of Footloose is carrying out an analysis of its existing ordering system and the alternative of adopting Smartcase.

Question 1

One member of the Board has indicated to you hat she opposes the purchase of the new system.  She argues that Footloose risks losing valued employees.  She also believes that from her experience, computers make a large number of errors, for more than the existing Footloose clerks.  She is worried about the reliability of the supplier and the cost of the change-over as well.

a. To what extent are these concerns valid and how would you respond to each of the concerns?

b. suggest two important reasons for choosing Smartcase to replace the existing manual system.

Question 2

What factors will Footloose need to consider when combining Smartcase with the existing central computer?  Take account of both hardware and software.

Question 3

a. In evaluating Smartcase, what questions will Footloose need to ask Switched on Briefcases Pty Ltd about system security and backup facilities?

b. Why are these questions important?

Question 4

‘When a new component is added to an information system, the change is likely to have effects on other components in the system.’

Explain this statement with reference to the effect Smartcase will have on the hardware, software and human components of the existing system.

Section B

Assuming that Footloose decides to go ahead with the implementation of Smartcase, they now ask your advice in preparing an implementation plan.  They ask you the following questions:

Question 5

What factors should Footloose consider when purchasing the hardware and software that is necessary to implement Smartcase?

Question 6

(part A has twice the value of part B)

a. Describe an appropriate training strategy for member so the Footloose sales team paying particular attention to the needs of Bill Slipper.

b. How would you inform customer about the changes and what information would you give them?

Question 7

How could Footloose test he accuracy, efficiency and reliability of the new equipment and it operating procedures?

Question 8

You are approached by a firm of consultants which specialises in preparing sit specific user documentation for organisations that are introducing new computer-based systems.

a. Why might it be helpful to employ their services?

b. If Footloose employed the consultants, what documentation would you ask them to prepare?

1997 TRIAL CAT 3 (ChemAssociates)

Case study

Nayman Enterprises is a small publishing company which has been in business for 30 years and provides publications to a client base of 2000 dealers and customers in Australia and 100 dealers and customers throughout the World in the specialised field of postage stamp collecting.

Each year, Nayman Enterprises, produces approximately thirty six new booklets (3 each month) on a wide range of topics relating to stamp collecting, up-coming sales, conferences and predictions about the future state of the stamp market.

As a result of being in business for so long, Nayman Enterprises has a very large list of publications that it has produced over the years. Many older publications are still in demand by its customers and Mark Nayman, the Managing Director, has suggested to the Company Board that these titles as well as current publications should he offered to customers in electronic form, that is, on 1.4 MB Disks, CD-ROM and the Internet.

The, electronic distribution of these publications would require substantial investment in hardware such as scanners and CD-ROM Writers, and software, as well significant time allocation to train the staff in the use of both.

Fortunately, the past publications from Nayman Enterprises have been beautifully printed in colour and preserved in excellent condition. These documents can be scanned easily using Optical Character Recognition (OCR) software and photographic scanning software and then converted to a platform independent format with an easy to use software conversion package. Customers will use the free software provide on each CD-ROM to recreate the original document.

Mark Nayman has also suggested to the Board that the pricing, structures of the publications he set so that customers will be encouraged to make their purchases in electronic form rather than printed form. Mark claims that the falling price and increasing availability of computers, CD-ROM drives and Internet connection will ensure that this strategy will he the correct one for the future. He provides the following figures to support his proposal:

· 1.4 MB Disks available for 40 cents each.

· Writable CD-ROMS available for $4.00 each.

· A double speed CD-ROM Writer available for $1000. 

· Web Page Creation and maintenance available for $8,000 per year.

Mark proposes the following ELECTRONIC strategy for 1998.

(Date of proposal January 31, 1997)

· All past publications to he scanned and offered for sale on a single searchable and interactive CD-ROM with a direct link to the company's Internet Site

· All publications for 1998 to be offered to customers either on 1.4 MB disk or CD-ROM

· The company's catalogue and any updates to 1998 publications to he placed on the Internet Site http://www.stamps.com.au (already registered)

Alicia Goodman, a Board member, is not enthusiastic about Mark's proposal. Alicia is concerned that not enough customers will take up the offer of electronic delivery of the publications to make the investment pay for itself. She is of the opinion that it is better to wait for the customers to ask for the electronic delivery. Alicia is also very concerned about the security of the Internet and whether it can be used to make money for the Company.

Alicia proposes the following PRINT strategy for 1998.

(Date of proposal January 31, 1997)

· The thirty six new publications for 1998 to he offered in print form only.

· A survey to be included with each publication asking customers for details of their computer systems and their interest in obtaining the publications electronically on 1.4 MB Disk, on CD-ROM or on the Internet.

· A sample CD-ROM containing some past publications to be produced by the company for training purposes.

· A survey of Internet sites dealing with stamp collecting to he done so that the site littl2://www.st~im~s.com.ati can he presented and used in the best possible way.

Question 1

If Nayman Enterprises decides to put the past publications onto CD-ROM for 1998, describe how the following phases of information processing will be affected.

i. input

ii. manipulation

iii. output

Question 2

In which ways would the proposal for putting all of the past publications onto CD-ROM for 1998, help Nayman Enterprises to achieve its organisational goals?

Make sure you fully explain your answer.

Question 3

In the event that the Nayman Enterprises decides to put all of the past publications onto CD-ROM, and the current publications onto 1.4 MB Disks or CD-ROM, what sort of procedures and strategies would be needed to be designed in order to implement this system?

Question 4

What economic and social implications for the staff may there be for Nayman Enter-prises if they adopt the proposal put forward by Mark Nayman?

Question 5

If the ELECTRONIC proposal is adopted, what factors need to be considered when urchasing the p necessary hardware and software?

Question 6

Describe methods for testing the effectiveness, efficiency, and reliability of the ELECTRONIC proposal for 1998 before it is implemented by Nayman Enterprises.

Question 7

Recommend appropriate strategies for dealing with the training needs of Nayman Enterprises if they adopt the ELECTRONIC proposal outlined in the Case Study.

Question 8

Describe the documentation needed to support the ELECTRONIC system.

What factors need to be considered when designing the documentation required to support the implementation of this new system.

Question 9

In the event that the ELECTRONIC system is implemented by Nayman Enterprises in 1998, how and when would you evaluate whether or not the implementation of the new system was successful?

Question 10

Which of the two proposals listed in the Case Study (ELECTRONIC or PRINT) do you think that Nayman Enterprises should adopt for 1998?

Make sure that you fully justify your answer.

END OF QUESTIONS

1997 1PM TRIAL CAT 3

1996 TRIAL CAT 3 (ChemAssociates)

Case study

Able and Baker Pty Ltd is a chain of 15 Real Estate Offices with head office in Melbourne and branches in suburban Melbourne and in country Victoria. At the beginning of 1996, each branch was issued with a Sonic brand computer with CD-ROM drive.

At present, each branch operates independently of the other branches. When a client lists a property for sale, that property is listed at the branch which the client visited. The relevant details together with photographs of each property are stored in files held in filing cabinets which are available to sales staff. Some properties are listed for sale in the window of each branch. Paper files have proved to be bulky and difficult to store and it has sometimes proved difficult to find details of a particular property. The present system has meant that each branch competes with the other branches for sales. Some clients have multi-listed properties with other real estate companies causing sales to be lost.

The Managing Director, Charles Delta, has recently said that it is important that the company  aim to operate as a single unit rather than as a group of competing branches. Rather than each branch selling different properties, and perhaps competing for customers, Charles Delta has suggested that all branches of Able and Baker sell from a multi-media property list on CD-ROM created on a monthly basis which would allow both customers and sales staff to browse properties for sale. This would involve the Head Office using multi-media authoring software together with a Sonic CD-ROM recordable drive, able to write CD-ROM disks. Recently the head office had software demonstrated for creating multimedia presentations called CD-Present which provides ‘compiled’ presentations which can be freely distributed. CD-Present costs about $1700, is difficult to learn to use, and each user requires approximately 20 hours of training before he/she can use it effectively. Each CD created costs approximately $10 for the disk blank and takes about 20 minutes to write. 

Under the proposed system, when a client lists a property for sale with a branch, that branch would forward details of the property and a photograph to the head office. Then, on the first of each month, a copy of the property list on CD-ROM disk would be mailed from the head office in Moonee Ponds, a suburb of Melbourne. The head office in Moonee Ponds has a  scanner and it is proposed that a copy of a scanned photograph should be included in the property list on CD. 

A Director of Able and Baker, Edith Smith, claims that this system would be too cumbersome and slow. “It may take a month to circulate details of some properties to all branches,” she told Charles Baker. Edith thinks that it would be a good idea to make their property list available on the Internet rather than use CD-ROM. She says that an Internet service company, Webmaster, could put their property list onto the Worldwide web and maintain it for a fee of $10,000 per year, with property details updated daily by Webmaster.  This would allow members of the public, as well as Able and Baker branches, to access the property list. Edith has been told that suitable access software for the Internet is available for little or no cost, all that would be required is for each branch to purchase a modem and to install a dedicated phone line. The existing Sonic computers are excellent for Web browsing.

 Charles Delta has suggested that using the Internet may not be a good idea.  He has heard of problems with ‘hackers’ and a quote obtained by him has suggested that it would cost approximately $2500 per year for each branch to obtain a semi-permanent Internet connection for 60 hours per week.

Question 1

If Able and Baker decided to put their properties on to CD-ROM, describe how the following phases of information processing would be affected.  


i.
storage


ii.
retrieval


iii.
manipulation

Question 2

In which ways would the proposal for putting details of property for sale onto CD-ROM help Able and Baker to achieve its organisational goals? Make sure you fully explain your answer. 

Question 3

In the event that the Able and Baker decide to put details of the properties for sale onto CD-ROM, what sort of procedures and strategies would be needed to be designed in order to implement this system?

Question 4

What economic and social implications for the staff may there be for Able and Baker if they adopted the Internet proposal?

Question 5

Which of the two proposals listed in the Case Study (CD-ROM or Internet) do you think that Able and Baker should adopt? Make sure that you fully justify your answer.

Question 6

If the CD-ROM proposal is adopted, what factors need to be considered when purchasing the necessary hardware and software?

Question 7

Describe methods for testing the efficiency, effectiveness and reliability of the information system if Able and Baker implemented the CD-ROM proposal.

How would Able and Baker test the procedures involved in implementing the new system?

Question 8

Recommend appropriate strategies for dealing with the training needs of Able and Baker if they adopted the CD-ROM proposal outlined in the Case Study.

Question 9

Describe the documentation needed to support the CD-ROM system.

What factors need to be considered when designing the documentation required to support the implementation of this new system.

Question 10

In the event that the CD-ROM system was implemented by Able and Baker, how and when would you evaluate whether or not the implementation of the new system was successful?

1995 TRIAL CAT 3 (ChemAssociates)

Case study

Smiths Books is a chain of three small bookshops situated in the eastern suburbs of Melbourne. The bookshops have established a reputation for having the latest release fiction, biography, travel, art, photography and cook books in stock. The chain has been owned by Mr. Robert Smith since its opening, five years ago. Since that time it has established a reputation for being able to supply good books for its clients. The bookshop is open seven days a week. Each store is run by a Manager. The additional staff employed by each store are:

	Store
	Casual Employees
	Permanent Employees 

	Hawthorn
	3
	1

	Doncaster
	4
	2

	Box Hill
	3
	1


The casual staff are employed for several hours a week on evenings and at weekends. The permanent staff are employed mainly during the daytime, although since the bookshop is open Thursday and Friday evenings, they are each rostered on to one of these evenings every week.

As well as providing secure employment for its employees, Smiths Books has the following goals.

· Provide a high level of customer service.

· Have an outstanding selection of books for customers to choose from

· Increase the profit of Smiths Books by 10% each year 

· Increase Smiths Books share of the market

· Increase the efficiency, effectiveness and productivity of the organisation

· Maximise capital growth

While many customers purchase books after coming into the shop and browsing, a significant number of customers of the shop have a particular book in mind which they would like to purchase. Under the current system, invoices are prepared manually after the total has been calculated using the shop cash register. A recurring problem is that staff (particularly the casual employees) do not know which books are currently in stock and are often unable to answer customer queries about stock availability without searching the shelves. Problems also have occurred when books which have sold have not been re-ordered from the book publishers. Finally, mistakes have sometimes been made in customer invoices with both pricing of books and the total on the invoice.

Mr. Smith has heard from other booksellers that purchasing a computerised stock control system called Book Control seems to have been successful in book selling businesses which have purchased it. Book Control has been produced by Mylar Software Pty Ltd of Southport, Queensland who started business several years ago. This application is available in both Windows and Macintosh versions, the two versions being almost identical to operate.

Under the system, computers in each store would be linked via leased line and modem to a central computer at the Hawthorn Branch. Book titles, authors, publisher, purchase price, location of book and sales price are entered into the system when a book comes into the store. Customer queries about book availability can be answered by searching the database under either the author or title of the book. When customers purchase a book or books, the system will write an invoice and then update the book record to indicate that one less book of that title is in stock. Reports are available to indicate to Mr. Smith stock availability, which titles have been sold in a certain time so that these titles can be-re-ordered if necessary and which titles have not been selling. Book orders may also he issued via Book Control so that Mr. Smith can identify which books have been ordered and which have not been delivered to date.

Book Control has a barcode software module costing $1600. Books have a barcode printed on them. This would mean purchasing a barcode reader for each computer costing approximately $450. A printer also needs to be purchased for each store in order to print the invoices.

Mr. Smith is not sure whether or not computerisation is justified. One of the permanent staff is very antagonistic towards computers and Mr Smith is not sure whether the casual staff are worth training in the use of computers as they may not be employed for a long period of time.

Question 1

Mr Smith has decided to consider computerising his operations because of the following problems in the existing manual system:

· it is time-consuming to write invoices 

· mistakes have sometimes been made in the invoice due to mistakes in book pricing 

· some books have been sitting in stock for years.

For each of the above, outline the two main phases of information processing which would be affected by the proposal by Smiths Books to purchase Book Control. Justify your choices.

Question 2

In which ways would the proposal for computerisation of Smiths Books, through the implementation of Book Control, help it to achieve its organisational goals? Make sure you fully explain your answer.

Question 3

In the event that the bookshops are computerised, what sort of procedures and strategies would be needed to be designed in order to implement the new system with respect to its control and security.

Question 4

What economic and social implications might there be for the existing staff, customers and for management if Smiths Bookshop adopted the proposals outlined in the case study?

Question 5

If the Book Control system is purchased, Mr Smith is uncertain whether or not to purchase a commercial laser printer for each store costing $2000 or a cheaper inkjet printer used in many homes costing only $300. Because of its low cost, Mr Smith favours purchasing the inkjet printer.

What other factors should Mr Smith consider when deciding to purchase a printer? Which printer should Mr Smith purchase? Make sure that you justify your choice.

Question 6

What additional information might Smiths Bookshop need before going ahead with this proposal to adopt Book Control?

Question 7

Describe methods for testing the efficiency, effectiveness and reliability of the hardware and software. How would Smiths Books test the procedures involved in implementing the new system?

Question 8

Recommend appropriate strategies for dealing with the training needs of Smiths Bookshop.

Question 9

Describe the documentation needed to support Book Control.

Explain what factors need to be considered when designing the documentation required to support the implementation of the new system.

Question 10

In the event that Book Control was purchased by Smiths Books, how would you evaluate whether or not the implementation of the new system was successful?

END OF QUESTIONS

IARTV - 1997

Western Peninsula Golf Club

The Western Peninsula Golf Club is a small, private Golf Club located in the sandhills of the Western Peninsula. The members of the Golf Club are mainly elderly men and women who have retired to the beachfront properties in the area. The Golf Club aims always to run efficiently and generate new membership so that members' annual fees are kept to a minimum. The Club Manager is Robert Barrington and he oversees all the operations of the Golf Club including the management of the Pro-Shop; the retail outlet located in the foyer of the Golf Club in which members can purchase a wide range of golf apparel: shoes, shirts, jumpers, rain gear as well as clubs and golf balls. Members can also have golf club repairs done at the Pro-Shop. Members can choose to pay for goods and services at the Pro-Shop either by cash, credit card or by using their Golf Club account.

As the membership of the Golf Club has increased, Robert has noticed that more and more members now choose to use their Golf Club account for Pro-Shop purchases. When only a few members used this facility, it was easy enough for him to manually collate the receipts from the Pro-Shop, total them and add the amounts to each member's monthly account stored on the Club's main computer. Robert is finding it more and more difficult to set aside the time to do this task now, and the Club Treasurer, William Johnson, is concerned that the money is not being collected from members before bills have to be paid to suppliers. The Club Committee does not want to remove this facility from Members as it is very convenient for them, but has requested that Robert Barrington address this problem urgently and find a solution.

Robert has suggested that a computer be installed in the Pro-Shop and linked to the main Club administration computer in the office next door via a Local Area Network (LAN). In this way whenever a member makes a purchase at the Pro-Shop, the staff would access his or her monthly account record and the new purchases would be added to the account. Robert's cousin, Margaret Henderson, owns the local computer store and has offered a good deal to Robert for purchase, installation and training for the new system.

Questions

1. From this case study, describe how, under the proposed system, the Golf Club's main computer will carry out the following phases of information processing relating to the production of member monthly accounts .

i. input

ii. Manipulation

iii. output

2. a) To what extent, and in what ways, might the proposed information system contribute to the achievement of the system goal of providing the Golf Club office staff with details of members' purchases immediately those purchases are made?

b) To what extent, and in what ways, might the proposed information system contribute to the achievement of the organisational goal as described in the case study?

3. William Johnson is concerned that the proposed solution of simply adding another computer to the existing system may cause more problems at a later date. He feels this is a good opportunity to have a large computer company come in and analyse the whole information system and suggest a solution to the problem.

a) How does this proposal differ in its design approach from the one suggested in the case study? 

b) Give one advantage for the Golf Club in using either design approach.

4. The proposed system involves allowing Pro-Shop staff access to members' accounts. This is an aspect of the system that is a concern to the Club Treasurer, as the personal and financial details of Club Members would be accessible through the computer system.

a) Do you think William Johnson's concerns are justified?

b) Can you identify any other implications of this change of which the Club should be aware?

5. The Club President is concerned about the cost of the new system and whether it will be worthwhile for the Club to undertake this implementation. He does not understand why the existing system cannot continue to be used. You wish to convince the Club President that the new system should be adopted. Describe the benefits of this system.

6. Robert Barrington favours purchasing equipment from the computer store owned by his cousin. This store is small, local and specialises in home computers, games and software. Before the Golf Club accepts the proposal to use this particular supplier, what factors do you think the Club Treasurer should check?

7. The Club Treasurer is very nervous about the likelihood of errors occurring on Members' accounts; when this has happened in the past it has caused the Golf Club considerable embarrassment. How would you suggest the new system be tested to ensure that the likelihood of errors on accounts is minimised?

8. Robert Barrington and his secretary, Marlene Harris, are the main users of the administration computer. The staff at the Pro-Shop have no experience in using computers at all; they are usually trainee golf professionals who give lessons, golf advice, repair Clubs and work part-time in the Pro-Shop. The proposed supplier of the new computer system is keen to provide training. They have suggested that Robert Barrington be trained in the use of the new hardware and software so he can train the Pro-Shop staff and that Roben's secretary will also need to know how to generate the new accounts. Comment on the suitability of this training strategy.

9. What factors need to be considered in designing supporting documentation for the implementation of the system? In your answer, take into account the needs of Robert Barrington, the Club Treasurer, the Club Members, Pro-Shop Staff and Marlene Harris.

10. Explain how useful each of the following activities would be in evaluating the success of the implementation of the changed information system:

a) a survey of Members asking how accurate their monthly accounts have been for the three month period after system implementation

b) a report from Robert Barrington on how many member enquiries or complaints he received after system implementation

c) a report from the Club Treasurer indicating how many new products have been made available for sale in the Pro-Shop since the information system was changed.

END OF BOOKLET

IARTV - 1996
INFORMATION PROCESSING AND MANAGEMENT

IARTV TEST‑OCTOBER 1996

Case Study

Sutherland Bros is a family-owned company specialising in the sale of business machines to retailers throughout Victoria.  The company has operated for and years itself' on providing high quality products and excellent after sales service to its customers Over the years Sutherland Bros has expanded its business as technological changes have occurred.  Today, the company sells a wide range of cash registers, photocopiers, fax machines and mobile phones. On-going personal contact between the sales staff and customers has been important to the company's success. To this end, the sales staff travel extensively throughout Victoria visiting existing clients and generating new customers

Richard Sutherland is the new Managing Director and is keen to see the company continue to expand He feels that using new technology will help Sutherland Bros operate more efficiently.  He is particularly concerned about reports from customers that the sales staff can be difficult to contact and that faxes and phone messages are not being attended to promptly or are being lost at Head Office.  Richard wants to make the sales staff more accessible to the customers and to Head Office whilst they are on the road.   Richard's daughter, Elizabeth has just begun working for the company, having recently graduated from university with a degree in Information Svstems.  Elizabeth has suggested using electronic mail (e-mail) to improve the communication of queries and orders between sales staff' and customers.  She also wants to put Sutherland Bros on the Internet with a Home Page which would advertise the company and its products.

Elizabeth has approached a specialist information solutions company, OnLine Products, for assistance.  OnLine Products has recommended that Sutherland Bros take the opportunity to move to a complete business software package, Office‑in_One which has database, spreadsheet, word processor and communications modules.  This package would replace the variety of software packages currently used and enable standardising of data transfer, stat's' training, documentation and technical support.  As part of this standardised software solution, electronic mail would be implemented and the word processing module is capable of creating HTML file format for Internet publishing.  Sutherland Bros could provide information about new products problem-solving strategies for existing products and other messages on e-mail and the Internet Home Page rather than only by phone or fax between customers and sales personnel.

To implement the e-mail component of the solution, an additional computer would be added to the computer system at Head Office and each member of the sales staff would have a modem and Officein‑One software added to their existing notebook computer and access to the company's Internet service provider.  OnLine Products has guaranteed to install the hardware and software within three months, undertake all training and provide a 24 hour telephone support service for the first 12 months after implementation. Elizabeth is confident that she and her technician can manage the Internet I Home Page installation and development.

Brian Jackson has been with the company for 30 years.  Since beginning as office boy he has moved through a number of jobs and is now Office Manager where he has overseen the growth of the existing computer system.  Brian feels he knows the company very well and is concerned about the impact of this new system.  He believes that if some sales staff wish to use e‑mail then they should be allowed to use whichever communications package they like, just as they do now with word processing, rather than completely changing all of the software used by staff.  He maintains the existing network server at Head Office will be able to handle any additional software.  Brian has the support of many staff' at Head Office who are convinced that more errors will occur in ordering, thus causing them more work as well as being worried about outsiders having access to the company's computer system via the Internet.  Brian also feels the existing customers rely on the personal service they receive from the sales staff and that using more computers will be detrimental to this important aspect of the Sutherland Bros operation.

Questions

1. Explain how the input, storage and communication phases of information processing relating to the product ordering and customer query systems would be affected by the implementation of electronic mail and an Internet Home Page.

2. How will the proposed electronic mail and Internet Home Page system help Sutherland Bros achieve the goals of personal contact with customers and excellent after sales service?

3. Describe the social implications for the sales staff, customers, and society in general of the implementation of this e‑mail and Internet Home Page system.

4. a) Comment on the adequacy of OnLine Products' approach to designing this new system (using standardised software) in comparison with the proposal from Brian Jackson that individual sales personnel make their own choice of e-mail software and connections.

b) OnLine Products has also suggested that the installation be managed in stages, rather than changing over to the new system all at one time. Comment on the benefits of this approach to the installation.

5. Richard Sutherland has decided to proceed with the e‑mail and Internet Home Page proposals Outline the advantages he would have identified in adopting these proposals. Are there any potential problems with this solution that Richard will need to address as part of the implementation?

6. OnLine Products is a well‑known computer solutions company which specialises in communications systems for business. The systems development team at Online Products have designed and implemented many e‑mail systems before and is confident that the technical staff are capable of delivering this solution on time and on budget. The proposed electronic mail system will become very important for the on‑going growth of Sutherland Bros. What other assurances should Richard Sutherland be seeking from OnLine Products?

7. Elizabeth Sutherland is aware that a critical factor in the success of the new e‑mail and Home Page system will be the ease with which the sales staff and customers can use the system to send and receive e‑mail and existing and potential customers can access the information available on the Home Page. She is also aware that Brian Jackson's influence in Head Office will be important in the success of the system. What training strategy would you recommend be adopted?

8. Assuming that the OnLineProducts' proposal is adopted, how could Elizabeth Sutherland test the accuracy and efficiency of the new e‑mail system including the security of the Internet Home Page access?

9. For each of the different users of the e‑mail and Home Page system, describe the type of documentation that would be required.  

10. Elizabeth Sutherland is very concerned that the e‑mail and Internet Home Page system be successful. How, when, where and by whom would you suggest the evaluation of the new system be undertaken?

IARTV - 1995

Information Processing & Management – 

IARTV Practice Exam - 1995

Ezypay Or Fastpay Systems

Case Study

Victorian Smallgoods is a family business whose objective is providing quality products and quality service to its customers. The company employs 10 sales representatives in the field securing orders. They use portable notebook computers to assist in tracking sales details and processing orders for goods. There are approximately 100 workers in the factory and administration offices, but computer use is limited to word-processing. Most of the employees have no computer skills.

The Managing Director of Victorian Smallgoods, Abel Tasman, has used a computer bureau to process the company payroll for a number of years. The payroll clerk, his daughter Mary, collects the handwritten payroll details about overtime, hours worked, sick leave and deductions from the employees and their department heads and prepares handwritten summary details for the EzyPay Computer Bureau  a computer service company which specializes in the management of payrolls and associated office procedures for small businesses. Mary sends the details off by courier each week and waits 2 to 3 days for the EzyPay to compute the salaries, prepare cheques and make direct bank deposits for selected employees. A printed statement of all transactions, tax and other deductions is returned to Mary after each payrun. Mary finds this procedure inefficient because of the time delay and the errors that creep in due to poor handwriting and mislaid paper slips.

Abel wants to improve the payroll operation and invites a systems analyst from Ezypay to provide details of a payroll system which can operate from Victorian Smallgoods office. At present they have no computer in their pay office and Mary has had no training in computer operations.

The Ezypay Bureau's consultant, Max Smart, advises Abel about a new locally produced software package which will perform all the payroll functions currently being done by hand and the Ezypay Bureau, but using a standalone computer in Victorian Smallgood's own office. Several of Ezypay's clients have changed over to this new method and now produce their payroll in their own offices.

Max Smart's software is designed to run on standard personal computer hardware and requires a payroll database, printing facilities and a method to allow for the transfer of data from Victorian Smallgoods to Ezypay and banks.

The Ezypay software can be purchased in sections. Various modules such as employee leave, holiday pay and taxation can be purchased as required to add to the basic payroll program. Each module uses templates or preset data entry forms to allow easy entry of data and to keep a consistent format between modules. Abel would also like to be able to look up employee details and pay history records for himself and is looking for a computer system which will allow him to achieve this.
Questions

1. Identify three problems that are apparent in Victorian Smallgoods' current pay operation. State the three phases of information processing that these problems relate to, and explain how these phases would be affected by the proposal that Mr. Smart has suggested for Victorian Smallgoods.

2. Given Victorian's aims of high quality operations and efficient work, explain how the proposals for change might be used to improve the achievement of the company's organisational goals. Make reference to the specific organisational goals that the company might have, that the proposal for improvement will affect.

3. FASTPAY Version 1.0, a new off-the-shelf computer payroll application has just been released in Australia, after being trialled in the USA. It is a widely available, icon based application that runs on all standard PC hardware or notebooks, and allows saving to 3 . 5 ", 5.25" disks and tape. It is designed specifically for small businesses to allow them to generate payrolls, print pay cheques, and allows 120 employees' pay to be entered

List questions that you would consider the company would have to ask of each of the two suppliers, before coming to a decision to adopt a new payroll system.

4. Considering the office design and the employees available to use either of the new systems, explain what implications concerning both the staff and the company, there might be if the company adopts either proposal, from 

i) an economic point of view 

ii) a social standpoint.

5. You are asked to prepare a document for the company management, which clearly states the advantages and disadvantages of each proposal. List these, and then make a recommendation on which of the two proposals should be adopted. Clearly explain your reasons for the selection of a particular proposal.

6. If the FASTPAY application was to be chosen, what factors would be important for the company to consider about hardware and software?

7. How could the Abel Tasman check whether the new FASTPAY payroll application was a more efficient system of producing the payroll than the previous method?

8. Before final decisions are made, the company wants to consider how they would handle staff training. As the company is small, Abel feels that they will have problems if staff are withdrawn for training and can't work their normal hours. Prepare an efficient training plan for the Ezypay system, that will overcome the problems of staff taking time off their normal duties, and that will allow all staff who need training on the payroll, to become familiar with the new system.

9. The office staff and management have asked for some type of sample documentation for FASTPAY, so that they can evaluate it, to see if it is suitable for their use. Suggest what documentation should be provided to support the change of payroll system, and what factors would need to be considered regarding the documentation.

10. If the Ezypay system was chosen, and has been implemented, when would you evaluate the success or not of the system, how would it be done, and who would be involved in this evaluation?

Buchan Secondary College
Case study

Buchan Secondary College, in Eastern Victoria, has a problem with keeping track of student absences. At the start of each day the form teacher writes the names of absent students onto a slip of paper and hands it to Mr Armstrong, the teacher in charge of discipline. Mr Armstrong's secretary, Joyce Jones, enters the names of the absentees, and their year level, into a computer program that prints a 'daily absentee sheet'.

Each teacher also takes the roll at the start of each lesson and writes the names of any students who are absent on an absentee form. At the end of the day the teachers hand in their absentee forms to Mr Armstrong who compares the names on each form with those on the daily absentee sheet. He writes the names of students who skip lessons onto separate sheets for each year level, and passes these sheets to the year level coordinators. The level coordinators keep records of how many lessons each student has missed, and check up on those who miss more than two in a week.

The current system of recording absentees has several problems. Both the form teachers" roll slips at the start of the day, and the absentee forms sometimes get lost, or the teachers forget to take the rolls. (Some teachers are famous for this!) Mr Armstrong spends a long time each day comparing the absentee forms from each of the school's 82 teachers with the daily absentee sheet. Sometimes he misses students who have skipped lessons, or writes down the names of students who were really absent. This causes unnecessary extra work for the level coordinators.

The school has decided to investigate methods of improving this process. One possibility is to issue each student with an identity card which has their name coded onto a magnetic stripe similar to that on a credit card. Each classroom will have a magnetic card reader which can read the data on the magnetic stripes. As the students arrive at their form room at the start of the day, and at each lesson during the day, they pass their cards through the reader, thereby marking themselves on the roll. All the magnetic card readers are connected to the computer in Joyce Jones' office. Each student's name and the room number are automatically transferred to Joyce's computer and stored in a data file along with the current time.

At the start of period one Joyce Jones runs a program that compares the names of the students who have checked into each form room with a master list, and automatically prints and stores the daily absentee sheet. At the end of each lesson Joyce runs another program that compares the names of the students in each room with the class list for that lesson, and compiles a list of absentees. The program then compares the list of absentees with the stored daily absentee sheet and compiles a list of students who have skipped each lesson. It can also detect those students who arrived at school late. At the end of the day the program prints year level lists of all students who have skipped lessons that day. Joyce sends these lists to the level coordinators for follow up.

At any time during the day the level coordinators can use a terminal in Joyce's office to check on students who have skipped lessons so far that day. The student absence data is stored on disc at the end of each day. At the end of each week and at the end of each term Joyce runs a program that prints out a 'student absence profile' for those students who skip more than two lessons in a week or more than ten lessons in a term. Detecting students who skip more than ten lessons in a term is not possible with the existing system. Any member of staff can use the terminal in Joyce's office to enquire about the absence pattern of any student. The program can provide statistics both on daily absences and on skipped lessons.

Mr Armstrong has been asked to investigate the purchase of equipment for the new system. Suitable magnetic card readers can be supplied by two companies; Magnetron Pty Ltd who are based in Brisbane, and Plasticard Pty Ltd who are based in Melbourne. Magnetron has been in business for several years, they manufacture the card readers in Brisbane, and their equipment has a reputation for being very well made. Identity cards for the Magnetron reader are readily available from a range of suppliers. In contrast, Plasticard started up six months ago, their card readers are about half the price of the Magnetron ones, and they are imported from Singapore. Identity cards for the Plasticard readers arc available only from a small firm in Buchan.

Question 1

Name three important elements of the information processing cycle that would be affected by the introduction of the new system, and explain the changes that would occur.

Question 2

How would the introduction of the new system affect the way the staff perform their roll keeping functions?

Question 3

The magnetic card readers in each of the classrooms will have to be connected to a single computer in Joyce Jones' office. Identify and explain any problems that might arise when connecting up all these devices.

Question 4

Identify and explain any effects the new system would have on the students at Buchan Secondary College.

Question 5

Outline the advantages and disadvantages to the school of installing magnetic card readers in all the classrooms, and indicate whether you think the school should adopt the proposal.

Question 6

Assuming the school has decided to go ahead with the proposal, which of the two suppliers of magnetic card readers should the school choose? Justify your choice.

Question 7

Describe ways of testing the efficiency, effectiveness and reliability of the new system.

Question 8

Identify the people who would need to be trained how to use the new student absence system, and describe a good method of training each person or group.

Question 9

The new system will affect all students and most staff at Buchan Secondary College. What differences will there be in the documentation provided to each group of people affected by the new system.

Question 10

How could the school measure whether the new system is successful?

Civil Works Pty Ltd
Case Study

Civil Works Pty Ltd is a small Land Surveying company that specialises in land subdivision and road construction. Civil Works is managed by Ian Pumpa, a Licensed Surveyor, who is responsible for office management and checking and certification of all work carried out by the field surveying officers. The field surveyors are Gillian James (team leader) and Phil Watts, who undertake all the surveying work in the field. They currently use a theodolite and a measuring tape to measure angles and distance. All measurements are hand written in a field book which is then returned to the of flee at the completion of the job.

Heather Wescott, a draughtsperson, plots the information from the field book on paper. After plotting on to paper, all information is checked firstly by Gillian to resolve any matters which Heather was unsure about, and then by Ian to ensure that all aspects of the job have been covered. Once the checking has been completed, the paper printout is then given to Karen Rodong who traces the information in ink onto a transparent plastic film so that it can easily be reproduced. When Karen has finished the tracing it is thoroughly checked for accuracy by Heather. Finally before the job is completed Ian makes a final inspection and then signs the transparent film.

Ian and Gillian recently attended a trade show where a new system called Microstation for recording and plotting information was demonstrated. The system comprised an Electronic Digital Measuring (EDM) device, which completely replaces the theodolite and tape measure. All field measurements are stored electronically in the EDM.

The second part of the system consists of a powerful personal computer with 250 Mbytes hard disk, a paper/transparent film plotter capable of plotting the largest piece of paper required by Civil Works, and an interface card which allows the EDM to be connected to the computer so that field data can be transferred directly to the computer. Also supplied with the package is all the necessary software to allow the processing and plotting of the data. This software, together with the operating system, a word processor, spreadsheet, and an accounting package requires 125 Mbytes of free hard disk space.

On a typical project it currently takes Ian 2.5 hours, Gillian 12.5 hours, Phil 8.0 hours, Heather 10.5 hours and Karen 6.5 hours to complete the required tasks.

Under the new system, once all staff have been fully trained, it is anticipated the job would take Ian 1.5 hours, Gillian 10.5 hours, Phil 5.0 hours, Heather 2.5 hours and Karen 3.5 hours.

Clients are charged on the actual time spent on each job. The charge out rates are Ian $70/hr, Gillian $50/hr, Phil $40/hr, Heather $40/hr and Karen $30/hr.

The 500 or so records created by a typical job would require a file of about 3.5 Mbytes to store them. In 1993 Civil Works completed 246 jobs that could be done under the new system.

Ian is not convinced that the new system can justify the initial cost, which is approximately $55 000, and the time lost while staff is trained, which would result in lost income of approximately $15 000. Ian also has very little experience with a computer system.

Gillian who has considerable computer skills, has recently joined Civil Works from ACER, who successfully operate a very similar system. She is convinced that, after an initial phasing in stage, the system will be very productive and will eliminate many of the errors that currently occur when the data is being written in the field books or when the data is being computed or plotted. In addition many of Civil Works clients are Architects who currently operate software that will be able to directly read the files created by Microstation.

Phil has no knowledge of how to operate a computer, Heather has some word processing skills and Karen, who completed Year 12 two years, ago has a sound basic knowledge of how computers work, and is very excited by the prospect of the new system.

Question 1

Identify three important elements of the information processing cycle which will be improved by the introduction of Microstation, and explain how those elements would be improved.

Question 2

Describe the effects the proposed change would have on the role of each member of staff at Civil Works.

Question 3

What problems could occur when the staff at Civil Works attempt to connect the two parts of the new system, namely the EDM and the personal computer, together?

Question 4

Identify the costs and savings involved if Civil Works adopted the proposal and installed the Microstation system, and indicate if the company would be better or worse off financially.

Question 5

Based on the information supplied above, and any other factors you consider important, would you recommend that Civil Works install the new system or not? Explain the reasons for your answer.

Question 6

Comment on the suitability of the hardware proposed in the new system. Where appropriate suggest modifications and/or additions to the system that should be considered to maximise the productivity of the system.

Question 7

If Microstation could be obtained on a trial basis, describe methods that could be used to test the efficiency, effectiveness and reliability of the equipment and procedures related to the new system.

Question 8

Identify appropriate types of training for each member of the Civil Works staff if the Microstation system is adopted, and explain how the switch over to the new system could be carried out.

Question 9

Describe the differences between the documentation required by each member of the Civil Works staff so that they will be able to use the new system as efficiently as possible.

Question 10

What recommendations would you make to Civil Works about how they could determine whether or not the new system is a success.

Information Processing & Manangement - Answers

CAT 3  ( 1992

Question 1

1. a)
The board members concerns about computers making a large number of errors are not valid.  It is the operators who make the errors, with the computers carrying out the given instructions.  I would respond to this by saying that if the users, the travelling  sales people, are given comprehensive training with Smartcase the errors should be very minimal.

The reliability of the suppliers is a concern.  Switched On Briefcases have only been operating for six months so there can not be that many other companies who have used Switched On to check with the manufacturer is based in Taiwan so its probable that goods will get damaged or lost.  The board member can really only check the back ground of the Switched On’s owner to see if he has been reliable.

The cost of the change over of $120,000 is alot to spend but if the company has a 30-member sales team and operates throughout Australia, they must be making money.  The help Smartcase will give with the processing of sales must outweigh the initial cost.

b)
The important reason for changing to Smartcase is that if the sales people can only phone their orders through on Friday, this means they must keep track of orders they make early in the week, such as Monday or Tuesday.  It is quite probable that salespeople will lose the occasional order.  Smartcase allows the order to be transferred on the spot or at the end of the day.

Another reason is the ease with which head office can receive the orders that manual way the order is read out by the  salesperson and entered by the operators at head office, allowing room for error.   With Smartcase the order goes straight into the head office central computer.

Part (A)

This answer deals well with the potential errors to be generated.  It recognises the reliability of the supplier as an issue and explains why this is an important consideration.  Cost is handled thoroughly and related to the size of the organisation.  Unfortunately there is a failure to address the concern relating to the loss of valued employees.

Part (B)

The response recognises speed of ordering as a benefit and the fact that a reduced number of procedures should result in a reduced number of errors.  Other points which have been equally valid to include were improved information to customers and hence customer satisfaction, and also improved stock control.

Question 2

The first factor Footloose need to consider is that the operating system of the Smartcase matches the operating system of the central computer.  They also need to be sure that the software packages also matches.  Footloose must also be sure that the central computer has the requirements to link with a modem.  These would include the modem port, possibly a modem driver, and maybe even room for an extra chip on the motherboard.  Once modems on Smartcase and the central computer are installed they must operate in the same transmission mode and at the same rate.

It was pleasing to see reference made  to the role played by the operating system and that this issue was central to the question of software compatibility.  Good points are also made in relation to modem connection and the capacity of the central computer to support more  peripheral devices. 

It would also have been relevant to have referred to storage capacity issues  and the need to take care that existing software is not affected when making software modifications to suite the introduction of Smartcase.

Question 3

a. Footloose will need to ask if it is possible to have passwords installed into the Smartcase units.  They will allow only the particular salesperson who uses that unit to access.  Footloose main office must have access to these passwords.  The units should also have anti-theft devices such as automatic file destruction after three attempts at the password.  Because Smartcase does not have permanent memory backing up must be done at head office.  Footloose will need to  ask if backing up can be done with magnetic tape or if plain floppies will do.  They also must ask if the system has its own backup procedures.

b. 
The questions about security are important because if passwords and the such are not used anyone can have access to sales orders, figures, etc.  The questions about backing up are equally important because the Smartcase units do not have permanent storage are easily stolen.  If files are not backed-up orders and figures will be continually lost.

Part (A)

The answer refers to password security and anti-theft devices and recognises the problem of Smartcase not having permanent memory.  Many candidates failed to recognise this key flaw in Smartcase.

Part (B)

It was pleasing to see that the candidate recognised the easy access to others could result in private business information becoming public knowledge with a risk of their being a financial cost to the business.  There was also a brief reference made to the dangers of losing data.  On the negative side, the answer failed to clearly indicate how absolutely vital security and backup are in the event of an emergency and how costly data loss, data corruption or data tampering might be.  No reference is made to viruses or the possibility of deliberate attempts being made to damage data.

Question 4

The introduction of a new system will affect the hardware immensely .  The central computer will have to be modified to accommodate for the modems and the operating system and other software of the Smartcase units.  The software of the central computer may also have to be modified.  The greatest effect it seems will be an the human component.  The owners of Footloose will need to borrow money placing them in debt.  This will cause the owners greater stress outside the working environment.  The salespeople will  also be affected.  They will have to learn how to operate a computer and a modem.  Some people such as Bill Slipper may never come to terms with computers and hence feel useless and inadequate.  Some older salespeople may have a technophobia and be frightened of computer operators at head office.  The operators at head office will also have to learn the new system possibly encountering similar problems to those experienced by sales people.

In relation to computer hardware this response deals well with the consequences of adopting Smartcase.  It recognises that alterations will be required to accommodate the modem and there is a brief reference to the fact that software changes might also be required.

The response recognises that there will be an impact on the human components of the system and supports this by reference to Bill Slipper and the need for training.

The discussion of borrowing did not seem relevant and other relevant points such as the changes required to the accounting and communications software were not included.  It would also have been appropriate to have drawn attention to improvements in management which might flow from having better and faster access to accurate data.

Question 5

When Footloose purchase the hardware and software they should consider how reputable the dealer is, the support they can offer as they are situated in Taiwan.   Can service be provided from Sydney.  Is on-line help available.  What are the methods of financing they offer as Footloose need to borrow money .  What method of financing is available elsewhere and will they give a discount for the total buying of equipment?

What is the anticipated life-span of the equipment?  Is it readily available or does it have to be sent from Taiwan.  Is the equipment safe, is there any likelihood of injury to the employees?

What sort of warrantee does Switched On briefcases or Small Solutions offer?

What is the level of training will be needed, is the equipment safe to operate and is the equipment user friendly?

Will the supplier offer a temporary replacement if the equipment breaks down?

What is the cost of the implementation of the new system and what modifications will be required to make it compatible with the existing system?

As indicated by the introduction to Section B the second set of questions assume that the decision to adopt Smartcase has already been taken.  It can therefore be assumed that whatever compatibility  problems may or may not have been encountered, they were not insurmountable.  The focus of the question was not compatibility but rather the factors to consider in the process  of purchasing the system.

This response to the question is good in that it recognises the need to deal with the problem of distance how service can best be obtained from Sydney based company, the provision of on-line software, possible sources of borrowed funds, the life-span of the equipment, health and safety issues, warranties and support in the event of breakdown.

Question 6

The training needed will be different for the different employees.

The thirty-member sales team will require seminars and extensive training courses on how to use the Smartcase system.  They will need to know how to enter orders as they are obtained, how to plug the Smartcase into any normal telephone point, how to upload relevant data into the central computer via the modem.  They will require knowledge in how to operate and efficiently use the software.

They may need some basic technical knowledge on what to do if an error occurs, and how to fix minor technical problems. 

They will all need to be made aware of the benefits of the new system and aware that their old jobs aren’t being replaced.

Bill Slipper will need all the above training but also will need to be told how he can enhance his job and with the technology so he can overcome his fears over the system.  He should be made aware that it will advantage him too, and not just the younger kids.  He should be made aware that his eyesight problem won’t be a problem and that the computer may take it easier for him to do his job if they could give him a special glare-free screen for his purpose.

b. I would inform customers of the change by sending them notices before its implementation.  They should be told of the benefits it will provide to them, eg. faster service.

Part A

The response recognises at the outset that training needs to respond to the needs of particular employees and it indicates key areas in which training will required.  It also pays particular attention to the training of Bill Slipper.

The key problem with this response and the majority of responses to this question, is that it does not amount to a strategy.  Candidates were expected to describe how their training would be done rather than to list a series of alternative approaches.  Was training to occur off-site or on-site?  Who would do the training?  What different levels of training would there be? etc.

Part B

This is a simple, straightforward answer to a simple, straightforward question.

Question 7

Footloose con test their new equipment and procedures by conducting the implementation of their hardware in stages.  Maybe begin using one Smartcase to see if it is accurate, effective, and reliable.  If it meets the needs of the business the other Smartcases should be implemented.

When the new equipment is in action manual procedures used prior to the installation should still occur so that the accuracy, efficiency and reliability of the equipment can be determined.

Manual checks should be determined whether the equipment  is functioning properly. 

Is the data being transmitted fast enough?  This can be found by getting the receiver of the information to reply when they have received it, maybe even relay it to ensure it is correct.

Footloose should stage a breakdown so the extent of damage of such a problem can be determined.  They will then know how long it takes to reload data.

They should sample the users response to the equipment randomly.

They should print out sample material to ensure that the data is being processed correctly.

There were three key issues referred to in the question, accuracy, efficiency and reliability.  All were expected to be addressed.  This response presents a range of ways to check important aspects of the system.  It deals with running the new and old system in parallel for a time and doing checks in the process.  It suggests a test for speed and proposes a mock breakdown to test reliability.  Another valid point is made with the suggestion of sampling the responses of a sample of users.

The key criticism which can be made of what is otherwise an excellent response is that the suggested methods of testing could have been more clearly linked back to the three specific issues referred to in the question.

Question 8

a. It is important that the documentation be prepared by somebody with expertise in the field.  They will include the things which are relevant to the needs of the business which would most likely be missed by somebody without experience in the field.  They have the experience and can include issues which may  have arisen in similar businesses.  They would produce the documentation in simple easy to follow language that all employees can understand even those with little computer knowledge.

b. If Footloose employs consultants I would recommend that they prepare the documentation in a form that can be easily understood by the employees.  It should be user-friendly with easy to find indexes.  I would ask them to prepare documentation which included both a brief summary of the technical areas of the system and also a very complex section that could be used by the technicians if they needed some kind of user-support.

I would also ask them to produce the notices to the customers as this way the relevant information would be sent and outlined to them.

Part A

The response recognises that preparing documentation requires specialist expertise, however, this point could have been developed much further in terms of the need to write material designed for a particular audience.  Simple documentation for the novice user and much more complex material for system administrators.  A further relevant point to make is that employing the consultants avoids the need for Footloose to devote its own human resources to preparing documentation even if it had the expertise available.

Part B

While the answer recognises that different levels of users require different levels of documentation, the point is not fully developed.  No specific reference is made to the distinction between user documentation, technical references and error support.

CAT 3  ( 1993

The sample student response is in the boxes.  It has been copied exactly as written.  Examiner’s responses follow each response

Question 1

a)  Stages of the information processing cycle which infochips and datacards are designed to improve are:

Retrieval: Having all the accurate information stored on either the infochips or the datacards, the retrieval phase of the information processing cycle will be improved.  Instead of looking up in the bulky phonebooks, all a subscriber will have to do is retrieve a file from their computer to look at the information needed.  This takes up to 2 - 10 seconds approx.

Output
The datacard readers come equipped with a printer connection, which will enable subscribers to print out any form of information required, quite easily.

Communication

The printouts made from the datacard readers can form a list of number which will communicate to the subscriber.  This improves the quickness of the information processing cycle phase.

Storage

Storage will improve by the amount each alternative can store data.  The infochip can store 50 megabytes of information while the datacard can store up to 500 megabytes of data.

b) The reason for considering alternatives to the present information system, is so that you get a range of ideas in which can improve the effectiveness and efficiency of the business.  One alternative may be better than the original system, but another alternative could be even better.  It gives good reason why you should seek alternatives.

Question 1

Unlike many answers, the sample response is at least selective in that it does not consist of a list and explanation of all elements of the Information Processing Cycle.  The key change the two alternatives are making is to the way in which the relevant data is communicated or distributed to the end user.  Rather than the data being communicated in the form of a book and retrieved by reading, it is communicated on a chip or card, retrieved electronically and output to a screen or printer.  The sample answer does not give a good explanation of the change in the method of communication, but it does more than the vast majority of responses by selecting appropriate elements of the Information Processing Cycle.

· do not just write a list of steps in the IPC.  Focus on those parts of the information processing cycle that the change(s) have an effect on

Question 1 b.

The sample response misses, or does not clearly address, the fact that Lookemup is trying to find a solution that reduces the cost of printing and delivering the books, the time it takes to deliver the books and the speed with which the customer can access the data

Question 2

Lookemup’s present operating will need to change if they decided to use infochips.  Initially they distributed phone books which were bulky and strong, now they would need to cater for the more fragile infochips.  The procedures used in packing and distributing the infochips will need to be more careful as well as gentle.  The infochips are much more easier to destroy and damage so it is very important that the distribution process is changed to cater for the chips fragileness.

Instead of dealing with phone books where you just place these on the doorstep, the infochip will need to specially insert into the circuit board of the computer.

Overall, the procedures that will need to be changed are the distribution of infochips as well as the installation.

Question 2

The points made in the sample response are valid and appropriate.  Other valid points would include the following:

· Instead of putting in place procedures to output the stored data to a publishing process, the procedure would involve transferring the data from one electronic medium to another.

· In order for Lookemup to provide the necessary support to its customers it will need to develop technical support and maintenance procedures and employ appropriate personnel.  Because the Infochip is designed to work on a nonspecific piece of equipment, it may be necessary for the support of customers to extend beyond the operation of the Infochip itself.

Question 3

a) The two important strengths about the infochip are:

· that an individual telephone number can be found in 2 secs this shows it’s strength with speed.

· the infochip is compatible to be run with the majority of Neverland’s computers.  It simply slips into a circuit board.  And once it is installed hold a large amount (50 meg) of accurate data.

The important strengths about datacards are:

· that the information stored on a datacard (upto 500 meg) can be updated annually

· a telephone number can be found in approx. 10 sec and the cards, the size of a credit card, are tough and can’t be damaged by normal handling.

b) The two important weaknesses about the infochips are:

· until they are placed into the computer they are very fragile and may be harmed by dust, heat and static electricity.

· they also require expert installation

The two important weaknesses about datacards are:

· they need their own datacard readers (which cost $600 each) 

· the size of the fleet which delivery the goods will stay same, as opposed to the infochips which we decrease the fleet by half.

Question 3 a.  and b.

While there were other points that would also have been valid, the sample response provides an excellent answer to both parts of question 3.

Question 4

The compatibility issues which will be raised with the infochips alternatives are:

· if a microcomputer isn’t running Thomas operating system Version 9 will this have any bearing of the compatibility of the infochip to the computer

· does the computer have the right type of circuit board to fit the infochip in

· the software developed, will that have any conflict to initial running software on the computer.  Will it be compatible running under a different operating system  Lets say (DOS) for example.

The compatibility issues which will be raised with the datacard alternative are:

· with the datacard reader coming with its own software will the software be able to run with the computer’s OS and other software

· will the connection from the datacard reader match the connection on the computer.  Will it have the right number of pins and have the right size.

· Has the computer the software or hardware capacity to run the datacards software

· will the connections to a printer be compatible with the printer connection.  Again will it have the right amount of pins, the right shape and size.

Question 4

The sample response deals with issues relating to both hardware and software, although it would have been preferable to have avoided simply writing a list of questions.  Unlike most answers, the sample response alludes to the obvious problem suffered by the minority of users who do not run the Thomas Operating System Version 9.  

The sample response does not make the point that the Datacard Reader is less likely to have compatibility problems because both the hardware and software are built to perform a single purpose and would have been designed from the outset to have been compatible.  Although it is not expected that candidates would see the Datacard Reader as an attachment to existing computer equipment, the sample answer would not lose marks for making this assumption.  The point made about the printer connection raises a valid concern.  A further point that could have been made, given the information provided in the case study, is that the future provision of Infochip data transfer over the phone line could give rise to a number of compatibility problems relating to suitable modems and communications software.

Question 5

After looking at both alternatives I would opt to choose the infochip system.  I have may reasons for my choose, they are which follow:

· Infochips have a very low failure rate once they have been installed.

· they are $1 each which are purchased annually

· it would decrease the size of the fleet required to transport

· a phone number can be found in 2 seconds, as opposed to the datacards 10 seconds

· the majority of Neverland have systems compatible to the infochips and at the price of $1 I believe the public will purchase these chips instead of paying for a datacard reader for $600 and don’t buy any more cards.  It is easier and cheaper to purchase a $1 infochip each year with all the information required, which will be installed in the system when purchased.  The damage factor may come into it, but I believe just a slight change in delivery procedure and you will find no problem at all.

Question 5

Like the majority of answers, the sample response favours the Infochip system and lists the arguments that can best be used to support this conclusion.  The panel responsible for setting the paper favoured the Datacard option because of its greater storage capacity, its single-purpose design and therefore ease of use and, above all, the fact that Datacards could be inserted by the end user without requiring expert delivery and installation by Lookemup.  It was surprising how many candidates seemed to think that because the majority of computers ran a particular operating system, there was no significant compatibility problem with Infochips.  However, it was possible to gain full marks for choosing the Infochip alternative, provided the answer dealt effectively with the key problem of installation.  Some candidates drew attention to the fact that data transfer over the phone lines in the future would overcome the existing installation problem with the Infochip.

Question 6

To retrains staff, you will have to prepare a strategy plan for their training.  The staff will be known to have knowledge in preparing bulky phone books and use the software where appropriate but won’t know how to install the infochip into the circuit board.  

· if staff have a basic computer knowledge you could basically teach them by using manuals with step by step instructions in how to install the infochip.

· the staff may need to do a night course, take course or a demonstration on how the inside of the computer is made up, and how it works.

· they will not only need the knowledge in how to install the infochip but need to understand the other components within the inside of the computer.

· if one staff member is trained properly at a course of some kind, he could train the rest of the staff how to do it practically

· make the staff simply read manuals and try to understand the function of installing the infochip.

The training strategy is suitable because all the staff will need to know how to install the chips so that they can perform new tasks making them feel that these basic knowledge isn’t redundant.

Question 6

The sample response is good because it deals directly with the question and makes a number of clear and practical suggestions.  It was particularly pleasing to see that the answer recognised the need to provide some general computer training so that the installers could more confidently understand their role within a broader context than simply learning the rudiments of installing a chip.  It would also have been helpful had the sample answer considered the possible source or sources of training .

Question 7

a) Three factors which need to be considered when preparing documentation for the users of this information system are:

· which staff members need what documentation

if the makers of the datacards need to be told how to produce the cards, a manual or some form of documentation will be needed to satisfy their knowledge.

· Do we have to make the public aware of the change.  What form of documentation will we require to inform the public of how the new system will work.

· if a staff member is one who maintains the system, he will have to have a complex form of documentation to satisfy his needs to perform tasks in fixing or maintaining computer systems.

Question 7a.

While the sample answer does not deal with all of the relevant issues, it was one of a relatively small number of answers that properly addressed the question.  The vast majority of candidates misinterpreted the question and described what the documentation should be rather than the factors to be considered in the preparation of documentation.  It had been hoped that responses would give consideration to a number of the following points:

· The form the documentation should take to be most effective, eg.  some form of mass media campaign to inform customers or technical manuals for service personnel .

· Who should prepare the documentation, eg.  an advertising agency, Datacard Reader suppliers, Lookemup.

· What information should be included.

· The cost and speed of alternative forms of providing the documentation.

· Who the documentation was being prepared for, eg.  customers, service personnel etc.

b) Lookemup will require on-going support from the suppliers of Datacard readers, three types are as follows:

· Whether they will respond quickly to problems.  On-site or off-site consultation.

· if they will offer guarantees or warranties for a period of time in case of malfunction or failure.

· will they replace datacard readers with a temporary one while under repair.  Have they spare parts available for use if needed to fix the datacard readers.

Question 7b.

The sample answer does not cover all possible points, but it interprets the question correctly and provides sufficient relevant points to gain full marks for this part of the question.

Question 8

To evaluate whether the company is being efficient, effective and reliable for datacards it could perform the following:

· Parallel running of an alternative system

· it could check if the information is accurate 

· the speed in which a number can be found

· whether the cards are reliable in keeping the accurate info.

· Daily or random checks

· This could check to see whether the information placed on the cards are correct

· they could check to see problems that may be found in the software

The speed in which the production of the cards are make opposed to making the infochips.  Check to see if it effectively placing the correct information on the card.

Randomly check a datacard to see if it correctly brings up a number, the speed it takes, etc

All these measures will see whether the company is being efficient effective and reliable.

Just testing the datacards to another alternative system and finding whether the company is efficient and effectively running the business.

Question 8

On the positive side, the sample response suggests a range of methods that could be used to test the Datacard system.  This puts this response ahead of the many responses that simply suggested that a survey of users be used without explaining in any detail what information the survey would be seeking or why that particular information was being sought.

On the other hand, the sample response is disappointing in that it does not clearly address each of the issues of efficiency, effectiveness and reliability.  These are essentially different things, and answers should have clearly indicated which method of evaluation is being used for each of these three areas.  

· When dealing with the issue of efficiency, candidates should have considered approaches that would evaluate whether or not users find that the system in fact allows them to conveniently access the data.  

· The issue of effectiveness is closely related to this and is directed at the question of whether or not the new method of providing data achieves its purpose.  Was equipment delivered on time to all end users and can they access the data?

· The question of reliability goes to whether or not the system always works.

Evaluation could have involved:

· surveying users to see that data is being read and presented accurately

· checking to ensure that telephone accounts are in accord with calls made

· maintaining records of particular batches of components and their failure rates

· auditing the delivery process to identify the speed of coverage

· surveying maintenance staff

· comparing Lookemup's costs for providing telephone number information both before and after the implementation of the Data cards.

It would of course be possible for one method of evaluation, such as a survey, to be used for each of the three factors being evaluated.  However, any attempt to do so should have included an explanation of exactly what information the survey was intending to obtain and how this related to any or all of efficiency, effectiveness and reliability.
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Question 1

Existing reports are often poorly presented

· communication - the presentation of the reports influences the way the information is understood by the readers of the reports.  If the data is poorly presented then those reading the reports will not fully understand what the teacher is trying to get across.

OR

· output - the way in which data is presented is a factor of the design of the output.  Poor presentation means that the output of the data has not been properly designed.  The writing of the report has not been properly done by the subject teacher.  Hence, the output phase of the IPC is a problem area.

Its time consuming to locate paper copies of reports

· input - in a manual system data input involves writing the reports on the correct report forms.  If the report forms are difficult to find then this impede the input of data.

OR

· processing - part of the manual processing of the reports involves completing or writing the correct report forms.  If the report forms cannot be easily found then the reports will not be processed or it will interfere with the processing of the reports.

Many teachers do not have keyboard skills

· data entry - if the subject teachers do not have keyboard skills then they will not be able to entry the data into the computer or they will do so poorly.  Since there is no other convenient way of entering data it is important that they have some keyboard skills.

Question 2   {criterion 2}

Under the manual system the office staff are only involved in the storage of the duplicate copies of the reports.  However, under the proposed changes the office staff will play a central role in the IPC.  They will now be involved in the input, validation, processing, output and storage phases of the IPC.  They will be required to enter the report data into the computer’s database.  Next they will need to ensure that the data has been properly entered into the appropriate database fields.  For example, the students’ names are in the correct fields.  Then they will process the reports into the correct format.  Finally they will print the reports on the correct report forms.  They will also need to ensure that the data has been properly saved onto the hard disk.

Question 3   {hardware & software compatibility}

· floppy disks used by the subject teachers to save the report data must be compatible with the floppy disk drives on the office computer or they will not be able to transfer the data into the database.

· the format of the files used by the subject teachers’ word processor must be compatible with the file format used by the office’s database.  If the format is not compatible the database will not accept the data so it will not be read into the correct database fields.

· the operating system of the subject teachers’ computers used to format the disks must be compatible with the office computer’s operating system.  Otherwise the office computer will not be able to read the disks.

Question 4  {economic and social issues}

Authorised access

· those who have been given access to the system but go into areas to which they do not have authority to go.  If this happens there will be a violation of privacy.  Students could see details on other students.

The reports are the confidential to the student and his/her parents.  It would be easier for unauthorised people to gain access to this data with so many terminals available.  When the terminals are physically isolated from students then it would be much more difficult.

They could also do some damage to the  system, either intentionally or unintentionally.  For example, students could gain access to the report data and alter it or delete it.

· viruses.  There is always a possibility that students could use infected disks.  As access is easier, viruses could be deliberately or accidently put onto the central computer.

Unauthorised access

· With more terminals available it would be possible for students to hack their way into the system.  It is possible that students will have time to do this because it is unlikely that teachers will be supervising terminals at all times students are at school.

There are a number of ways that security could be improved.  It can be divided into two parts - physical security and software security.

1. password access to the network

2. access can be restricted to specific directories

3. files can be made read only

4. adequate backup procedures

5. software devices such as screen savers that lock the keyboard after a set time if not used

6. terminals could be physically locked

Question 5

cost

· what is the total cost of implementing the system and can the school afford the price?

use of the software in other schools

· is the system currently in use in other schools?  Can these schools provide a reference for the system?

will it be able to be made to suit this school

can the software be networked?

· GUI vs CLI

Question 6

Do they have the staff to provide the technical support

· Level of support

is the company capable of providing assistance and support as the staff learn to use the system.  When problems arise will they be able to either come to the school or use a modem to fix problems when things go wrong.

· Upgrades

will they provide upgrades to the system new demands arise

· Maintenance of the software - fix up problems when they arise

· How long have they been in business?

· Do they have any references attesting to their ability to provide support?

Question 7

What tests could be used to measure efficiency?

a comparison of the time taken to prepare reports using both systems.

· investigate the problems subject teachers have in preparing reports, eg. you can write a report anywhere but you need a computer to prepare them under the new system.

· investigate the number of errors that occur in the reports

· investigate the problems that staff have in collecting, processing and printing reports

Question 8

Strategy?

· teach them keyboarding skills

· basic instruction in how to use a computer

· instruction in the use of the report writer

Question 9

Teachers are preparing the initial data so they will need to know how to use the Report Writer Magic.

1. This would entail using the editing functions of the program.

2. How to save data on disks

3. what to do if something goes wrong

4. how to make changes if errors are found in some of the reports

5. how to backup data on floppy disks

Types of documentation:

1. on-line help - if a problem arises the teacher can get help via a help key

2. a summary card giving the most commonly used functions

3. a more detailed set of notes which includes a set of error messages

4. notes on the structure of the database so will know where to type the name, etc

Office staff will be doing the more complicated tasks.  Factors to consider for documentation:

· how to copy data from the floppy disks to the central database

· problems that could arise if the data does not copy or does not copy correctly in the appropriate database fields

· how to use the programs to process and print the reports

· how to use the printer

· how to enter changes when errors are discovered in corrected reports

Types of documentation would include:

· on-line help - staff can call up help when a problem arises

· details on the structure of the database

· technical notes on the operation of the computer for those responsible for the maintenance of the computer

· notes on the use of the printer as well as a list of error messages

Question 10

There are three areas: subject teachers & homeroom teachers, office staff and parents

Has the new system made the it easier or more difficult for teachers to prepare reports?

Is it easier to check reports for errors?

Is it easier to fix up errors when found in reports?

Do parents find the reports easier to read and understand?

Is the process quicker?
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Information Processing & Management Assessment

SUGGESTED ANSWERS

QUESTION 1

The answers were accessed by considering the following question ( has the candidate chosen an appropriate element and shown the relationship between the argument listed in the question and the chosen element of the information processing cycle? The question uses the expression "most closely" to ensure that responses were focussed on particular elements of the cycle.

One mark was allocated to each of the three points.

A candidate who chooses a correct element but cannot explain why it is correct should receive no mark for that part of their answer.

(i) Communication. Poor presentation of a report may result in the reader being unable to correctly interpret the information being conveyed.

Note: If a candidate was to argue that the correct element was output and justify this choice by saying that the poor presentation of reports may be the consequence of a poor output device ie. the printer, the candidate was given a mark.

(ii) Retrieval: The issue raised is the time taken to locate the reports for a particular student from a filing cabinet holding a large number of paper records. A new computerised system should significantly increase the speed with which an individual's reports can be retrieved.

Note: Candidates choosing storage should not be given a mark. The concern raised does not relate to a shortage of filing cabinets or an inability to have the reports stored in an orderly fashion. The question quite specifically refers to the time taken to locate reports.

(iii) Input: Someone who does not have keyboarding skills will find that entering the data is a much slower process than would be the case with handwritten reports. This concern therefore relates to the data entry or input phase of the information processing cycle.

QUESTION 2

Be on the look out for answers which simply quote directly from the sections of the case study which refer to the office staff end leave you to establish the link between the selected quotes and the procedural changes the office staff must undertake. Such answers should not attract any marks.

In order to achieve one mark candidates would need to indicate to you that the introduction of the new system will have a dramatic effect on office staff, although they may only make a very general reference to why this might be so.

A medium answer would provide a couple of examples of areas where changes will be required but fail to concisely point to the key areas of data collection, data loading, printing, collating and distribution of reports to home group teachers.

A high answer would address the bulk of these areas quite clearly and leave you in no doubt that they grasp the procedural impact of the change on office staff and the components of the system that will constitute a major change.

An example of a High' standard response.

The case study suggests that under the existing situation, office staff are only involved with the duplicate reports. It is reasonable to assume that their existing procedures would be confined to efficiently gathering and storing the duplicates and retrieving particular reports as requested.

Once the new system is in place, new procedures will be required to ensure that all disks are collected by the appropriate deadlines and that the data is loaded from the disks to the central computer. They will also need to put in place new procedures to cope with a failure to submit data, the submission of corrupt or incomplete data, the printing of reports, the collation of the printed reports and the systematic return of them to home group teachers for checking and distribution.

These changes will constitute a major alteration to the workload of the office staff, the skills they will be required to use, the organisation of their time and their relationship between home group teachers and the teaching staff. They will need to establish an entirely new organisational pattern leading up to and during the time reports are prepared.

QUESTION 3

Candidates must raise three different issues. One mark was allocated to each issue and the mark was given only if the issue is both identified and explained. This means that you must be satisfied that the candidate understands why the concerns they have raised could be a potential compatibility problem in the context of the case study.

The case study is deliberately vague in order to allow students to raise a number of different compatibility problems. The important issue is whether or not the problems they raise could genuinely cause difficulty given what we know of the new system and whether or not the candidate has satisfied you that they understand the relationship between the problem and the different components of the system.

The three issues have to be different. Three different explanations of the fact that IBM and Macintosh operating systems are different and that this may result in data transfer problems does not constitute a high quality response. You will need to exercise some fine judgement here. Remember that the benefit of doubt should go to the student.

An example of a 'High' standard response.

Although 'Report Writer Magic' exists in two formats, it is not stated whether or not the data entered under one format can be conveniently retrieved under another format. It would seem highly likely that there would need to be some intermediate translation step which may be either time consuming, complex or unreliable.

'Report Writer Magic' is likely to have some minimum system requirements. These are not specified. Do all of the computers the staff own meet these minimum requirements? Not all computers are either Macintosh or IBM compatible machines. Some teachers may find that their computers are of no use for this report writing process.

Disk sizes will also be an issue which will require the central computer to cope with different density disks as well 5 1/4 and 3 1/2 inch disks. Does the 'Report Writer Magic' software reside on the same disk as the data or does the program need to be loaded separately? Does the system require a hard disk? It may be that some of the stand alone computers do not accept or do not have the capacity to accept the program and or the data generated.

It will be important that Report Writer Magic works with the printing facilities already existing in the office. The software will need an appropriate printer driver.

QUESTION 4

To get one mark, candidates would need to at least allude to an important potential problem such as the invasion of privacy or the need to adequately protect against loss of data.

Two mark answers would explore one important problem at least one plausible suggestion to overcome the problem in some depth.

A three mark answer would address at least two different problems relating to data security and make at least the suggestions to overcome these problems.

An example of a ‘High' standard response.

Academic reports are confidential documents. It is not fair to students if it is possible for anyone without authority to read or discuss student reports.

Academic reports are important records which may need to be retrieved for a range of purposes. It is vital that this data is stored securely so that students cannot cheat by altering the data and that the data cannot be deliberately deleted.

The systems which store the report data need to be protected from corruption by hardware failure or software viruses.

In order to overcome these potential problems I would suggest the following:

· Password protection which is structured in a way that limits data access on a 'need to know' basis.

· Procedures to ensure that passwords are regularly changed and that penalties are applied to individuals who breach security requirements.

· Automatic computer virus checks.

· Regular backups to be taken and stored off‑site.

· The archiving of data which is no longer likely to be required at short notice.

· Minimising the proliferation of terminals.

· Placing terminals in secure locations.

QUESTION 5

There are many possible areas which could be raised by candidates. The key question to ask is whether or not the information the candidate would seek is significant in determining whether or not to adopt the proposal.

A student generally received a mark for raising two relevant requests for information; two marks for raising three relevant areas and three marks for putting forward more than three possibilities. This was used as a guide only because some students, for example, may deserve 2 marks even though they raise only a couple of points because the points they raise are critical to the decision and they cogently argue their significance.

Relevant issues would include:

· Hardware and software compatibility.

· Security available in the system.

· Customers (parents and students) current perceptions of reports.

· Staff attitudes to the change and prospective training.

· Level and expense of training required.

· What labour and other costs will be involved in the new system.

· Supplier support.

· Availability of support materials.

QUESTION 6

Note that this question refers to choosing the supplier, not the system. On trial here is the supplier, not hardware or software issues.

Choose from:

· Guarantees of ongoing support.

· Support for customisation. 

· Reliability of the firm

· Qualifications and availability of support personnel.

· Ongoing development of the software. 

Candidates may come up with other appropriate responses.

For three marks candidates will need to supply three distinct points and each of these must clearly relate to the supplier. Two for two marks.  One for one mark.

QUESTION 7

The key words here are efficient, preparing and distributing (Note: not effectiveness of the system). Answers should describe a method of measuring efficiency in the two areas mentioned. An example would be:

· They should measure the number of times reports must be redone.

· They should measure the total teacher time taken in the process before and after the change.

· Notice was taken of the proportions of time taken by office and teaching staff under the new system.

· The school should measure proportions of poorly prepared and illegible reports under old and new systems (using copies from old system).

· What is the total time between the day reports are due from teachers and the day they are distributed to parents? Is the time shorter or longer than it used to be?

Three marks were awarded only when the candidate has covered both the preparation and distribution issues and you would expect at least three appropriate measures.

QUESTION 8

Students need to prepare a training strategy for these teachers which is designed to:

1. overcome the concerns of Larry and Co

2. provide them with skills.

For one mark there was some evidence of a planned approach and the suggestions should related to overcoming the concerns and providing them with the necessary skills. If a student just lists a number of unrelated training items, they would not get even one mark.

For three marks, the candidates would need to include, WHAT training is to be done and HOW and WHEN it be carried out, and the strategy would need to address both of the above areas.

Some elements of an appropriate strategy:

· all staff need to be made aware of the rationale behind the new system. This might be done at one or more staff meetings or through special bulletins.

· show all staff samples of the new report form and indicate the level of improvement in presentation and quality.

· provide keyboard training skills to the staff through the use of typing tutors and formal classes. Do this well before the first report writing period.

· provide support during implementation through the use of appropriate experienced staff

· ensure that adequate and appropriate training documentation is available. provide an opportunity to "dummy run" the software in group training sessions held during or after school hours.

· note book computers may need to be purchased and teachers take these home to improve their confidence and/or skills.

QUESTION 9

For three marks, the candidates should outline factors to be considered when designing the documentation AND describe the type of documentation relevant to the selected group. When describing "type" the candidates may refer to content and or mode. It is not intended that they necessarily describe both.

Factors to be considered when designing the documentation for each group:

· background of the audiences (their existing skills and knowledge) 

· what new knowledge and skills are required in their new role or test required minimum documentation can be prepared

· depth of information required

· issues of presentation appropriate to the audience (graphic design, media, cost, size)

· sequence of what is presented.

The type of documentation is to be described but it must be an appropriate list for the chosen group hence programming manuals or highly technical documentation should not be given credit in either case

Appropriate examples

Content

Teachers

· general overview of the system

· basic operating in transactions which are very user friendly

· an operators troubleshooter guide.

· on line help

Office Staff

· general overview of the system

· operating instructions

· training

AND/OR

On‑line help keyboard overlays brochures text

· manuals

QUESTION 10

When answering this question students should address the three elements of when, who and why. For three marks, students should justify the timing relative to this case study and explain why it is important to involve the named people. They may choose different times or involve different people but their suggestions were sensible and they were justified.

Some issues:

When will you evaluate ‑ (eg. ‑ immediately after the first round of reports)

WHO will be involved ‑ {eg. ‑ parents, college committees, teachers, office staff)

WHY the specified timing and these people to be involved?

· need to address any procedural problems immediately

· more PD may be required for staff

· parents are concerned with quality as the recipients of the information

· teachers are concerned with quality, efficiency, ease of operations, time involved, access to the hardware, etc.

· office staff need to review work processes and the timing involved.

VCE CAT 3 ( 1995

GENERAL INFORMATION

The setting panel saw 1995 as a year of consolidation in which we would try to keep the case study straightforward and as short as possible. As had been flagged at the end of 1994, we felt that the changes to the criteria, particularly Criterion 3, would necessitate the inclusion of more detail in the stem of the question. In fact, we did this in a number of questions. Questions 4 and 8 followed this different pattern and appeared to work well. There has been some criticism that these questions misled students. The panel does not accept this criticism. They believe it is reasonable to ask students to evaluate particular proposals.

The criteria were used as the basis for setting examination questions. They were not directly applied in the marking process.

We still prefer to have only one case study and to keep it as brief and as realistic as possible. In 1995 the case study raised two key areas for analysis; first, should Toys Galore adopt a new method of communicating with clients, and second, if they decide to make a change, which of two alternative approaches should it adopt. It is pleasing to report that students understood these key issues and were not confused by the case study or the sequencing of the questions.

We intended to emphasise the organisational context and hoped that students would relate their responses to the particular circumstances of the case study. It remains the case that many students find it difficult to see organisations as a whole and to identify how particular elements of their activities, such as communicating with clients, relate to the overall goals of the organisation. It may be helpful to draw upon the experiences of students with part-time jobs to build a broad picture of organisational goals and culture and of where information systems fit in different organisations.

Criteria 3 and 4 involved a significant change from the previous criteria and the panel wanted to keep questions in these areas very straightforward. In fact, there had been some confusion over the intention behind Criterion 3. The purpose of this criterion was to encourage students to explore the issue of system design but it was not intended that they study design theory in detail. They need to be aware of how costly poor or non‑existent systems planning or design can be to an organisation and how design approaches should be tailored to each particular context. The distinction provided as an example in the study design between top down and bottom up design was intended only as an example and should not be seen as a prescriptive element of the course.

Overall, the standard of answers showed clear evidence of improvement over recent years. There are, however, areas in need of attention and these are dealt with below.

SPECIFIC INFORMATION 

Question 1

Manipulation  Answers should have indicated that the data needed to be processed in a particular way to convey the information to shop managers in a different form. The obvious way for a student to do this was to make some reference to desk top publishing as a new way for Toys Galore (or Davey Graphics) to manipulate the data. It was suggested that two marks be allocated to this part of the response. If a student suggested that manipulation was not affected, they received no marks. 

Data acquisition  The correct answer was 'Not affected' for which students received one mark. Some students suggested that the new style al newsletter might require different graphical data to be acquired. This was a valid point for which they gained credit. 

Communication  This is the obvious phase addressed by the decision. Students should have mentioned the displacement of the old sales staff visits by the new posted brochure; two marks were allocated to this element of the question. If a student suggested that communication was not affected, they received no marks.

This question worked well overall. Students exhibited a better understanding of the phases of information processing than has been the case in past years. 

Question 2 

While the broad organisational goals of Toys Galore might be stated as 'Profitability through the provision of goods and services to retailers' (and some students explained these goals very effectively and gained full credit for doing so), responses to this question were expected to specifically relate to the part of the case study where it was stated that the newsletter was a way of:

· improving communication

· promoting customer loyalty, and

· reducing the number of times each year that the sales staff need to visit shop managers.

It has been justifiably suggested that an unfortunate side effect of listing these goals in the case study was that some better students may have felt constrained to deal at this relatively superficial level. In fact, a lot of students had difficulty discerning any organisational goals although most could muster at least one or two from the case study. 

Question 3 

Good answers to part (a) included measures of the cost, time and effort it now takes to communicate the relevant information to shop managers. The key thing we were looking for was measures of efficiency rather than effectiveness. Measures such as interviewing shop managers to see whether or not they found the information to be useful were not relevant.

The correct answer to (b) was no. The relative expense in terms of time, money and effort does not tell us whether the newsletter is proving to be an effective means of communicating information. Students were not required to give methods of checking effectiveness but many did so in order to make the distinction between efficiency and effectiveness clear. If they succeeded in showing they understood the distinction they gained credit. Unfortunately most students did not grasp this distinction. Teachers will need to address this issue as it is important not only to system evaluation but also to system design.

Question 4

It was expected that students would be critical of the evaluation proposed and be able to explain its inadequacies. It was

appropriate to say that the questionnaire itself might provide some useful data but it will only provide an extremely short‑term evaluation of the change from the customer's perspective. The questionnaire is only a part of what is required.

For full marks, students should have pointed to the problem of timing (too soon after the change), the limited focus of the evaluation (customer evaluation only), the lack of any follow‑up analysis and the failure to evaluate efficiency from the perspective of the organisation itself.

While students were not asked to present their own methods of evaluation, many students chose to explain the inadequacies of the proposed method by making their own suggestions. Credit was given for this if students showed the relevance of it. They

may, for example, have suggested that the questionnaire might have sought information about how the stores are reacting to less interaction with sales staff. Toys Galore could prepare an audit of the number or value of orders since the change was introduced.

They could try and identify any effect on profitability. They could measure comparative costs and they could seek feedback from their own staff Far too many students thought that the questionnaire on its own provided an adequate means of evaluation.

Question 5

Although cogent arguments could be introduced either way we were expecting good answers to include discussion of the difficulties of training Sally Smith and the issue of whether or not Toys Galore should concentrate on its core business and allow Davey Graphics to concentrate on theirs. Mention might also be made of lesser issues such as the cost of equipment and other in-house installation issues. Students who opted for the in‑house solution could get five marks but they had to argue their case very carefully and recognise and answer the key arguments in favour of out‑sourcing.

Five marks were normally reserved for an answer opting for Davey Graphics and indicating all the points above with some discussion of possible problems such as a lack of information about the experience of Davey Graphics in publications of the

kind envisaged.  It was disappointing to see the majority of students debating this issue in terms of short‑term costs rather than seeing just how important this document was to Toys Galore and how expensive a wrong decision would be for the organisation as a whole.

Question 6

This was designed as a relatively soft introduction to Criterion 3.  In reality it was not really a design question although it involved some consideration of the best approach to developing a solution.

The benefits of approach one are:

This will build Sally's understanding in the process of investigation.

Sally will be initially happy with the software and hardware obtained.

The output is being evaluated by the person directly responsible for the new system.

The benefits of approach two are: Because the expert has no personal stake in the outcome, he/ she can take a dispassionate view of the needs of Toys Galore and look directly for the output required.

Rather than learning by investigating, the expert exactly what to look for during his/her investigation of the alternatives. Because of his/her experience, the expert will be able to consider future possibilities as well as current needs.

Question 7

A. While it is likely that there will be no problem, Toys Galore should investigate the type of printer connections, the availability of appropriate printer driver software and the extent to which the printer supports the requirements for draft printing of publications such as the brochure concerned.

B. No, there are many other issues such as the reliability of the suppliers, any maintenance agreements/warranties, the availability of spare pans, backup support, upgrades, insurance costs, ergonomic considerations and so on.

C. The level and expense of training required  

The adequacy of user documentation 

Ongoing software development

Compatibility

Ease of operation

A good straightforward question which was well answered.

Question 8 

It was amazing how many students thought that the training described was very good. It remains the case that students do not seem to be aware of important training issues. Teachers should devote some attention to these issues. The weaknesses in the approach to training described in the question are:

· The inadequate time frame. Two weeks is not long enough, particularly given the importance of the publication and Sally's lack of experience.

It is inappropriate to start with an advanced course when it would appear that Sally is a novice.

While the length of the course may be OK in itself, the fact that Sally is one of thirty‑five clients means there will be little personal support provided.

It may not have been necessary for Sally to have covered all the special functions for this first Newsletter.

The fact that many different industries are present may mean that some of the material covered or issues dealt with are not

relevant to Sally's needs.

The pre‑set exercises may not be relevant.

Sally is unlikely to be ready for a technical manual.

The setting panel believe that this was a good question both in structure and content.

Question 9 

This question failed to discriminate and in retrospect was a relatively poor way of assessing Criterion 9.

Question 10

A global approach was taken to marking each part of the question.

In each case, there were many points which could be made. Markers were looking for an understanding of the issues raised in the question and thoughtful analysis of them in the context of the case study (for part A) or other circumstances (for part B).

The key word career caused a problem because many students thought it was synonymous with tasks.

Sally's new role would require her to learn new skills and take on greater responsibility. She would have access to greater knowledge about the company and to their forward plans regarding new products and forthcoming promotions. She may find the production of the newsletter more of a creative challenge than working in accounts and she may find greater job satisfaction in the new role. She may be entitled to expect greater status and remuneration as a result of this change and her future employment prospects may be enhanced. Her working conditions will also change. She may be under greater pressure to meet deadlines and it is not clear if she would continue to perform some of her previous functions. She would need to deal with the uncertainties associated with change.

Students who effectively discussed two or more of the above issues were awarded full marks for this pan of the question.

It was hoped that responses to (b) would include a description of the new technology introduced, the particular employee or group of employees affected, the career changes caused by the introduction of the new technology and the way in which the introduction of the technology affected the careers being discussed.

This part of the question was very poorly answered. Many students couldn't go beyond the case study and dealt with sales staff redundancies at Toys Galore rather than examples from their own experience.

Setting questions to Criterion 4 is a difficult task. The problem with the area of social implications is its breadth and the difficulty teachers have in deciding what content to cover. One suggestion is that the setting panel use the Board of Studies VCE Bulletin to notify teachers of the areas from which examination questions will be drawn in each particular year. We might, for example, say that the examination will deal with one or more occupational health and safety, privacy and workplace change(s). This will be followed up with the Board of Studies.

VCE CAT 3 ( 1996

Information Processing & Management Assessment

SUGGESTED ANSWERS

QUESTION 1

For a result of 5, the student must answer correctly all three sections, 4 marks should be applied if you believe that there is a lack of clarity or accuracy in the explanations. A result of 3 can be allocated to two correct responses. This can be reduced to 2 if you believe that one or both of the correct responses are inacurately explained. 1 mark should be applied where one element is correctly answered regardless of the quality of explanation.

Input is via modem and students suggesting keyboards must not be given credit.

Manipulation includes checking for TD code and plotting on the map. (both are required

Output is the printed map with dots

QUESTION 2

In section (a) the candidate should differentiate between the objectives of providing data to the researchers and reducing tooth discoloration. It should be clear from their response that the system goal is the mechanical process of providing data while the citizens' goal is the reduction of tooth discoloration.

In relation to (b) the case study refers to the system goal being the provision of "relevant information to the dental researchers" The key word here Is r levant Given that we are told that the researchers are wanting to identify the causes of TD, the candidate should comment on the way in which the system output might provide relevant information. Clearly there is the possibility that the researchers may be able to identify a pattern which will help them find a cause. It is of course possible that there is no pattern and that that the information is therefore less useful.

Section (c) leads on from section (b) and asks candidates to explain how the proposed system might play a part in reducing tooth discolouration if the maps help identify a cause and if the cause can be effectively responded to.

It is important to mark this question as a whole because there is considerable blurring between sections. Scores of 5 and 4 should be reserved for candidates showing clear distinctions, across the three answers, between system goals, community goals and the operation of the system. They would clearly indicate that there is work beyond the system if tooth discolouration is to be reduced and would explain what sort of work might be involved.

Candidates who can identify the fact that system and community goals are different but either cannot explain this very well or suggest that in the end analysis, both goals will be achieved should at most be given a result of 2 or 3.

If a candidate shows some sign, no matter how slight, that he/she realises that this system will not necessarily solve TD, they should be given one mark.

QUESTION 3

Marks should be divided between sections on a 2, 3 basis

In section (a) the candidates should indicate the difference between top down and bottom up methods. These specific terms need not be used but the distinction between the two approaches should be made in ways other than simply repeating the terms from the statement of the question. A well explained distinction should receive 2 and an answer which suggests some grasp of the fact that there are two fundamentally different approaches on offer should receive 1 mark.

In section (b) candidates must present 2 distinct advantages for each method. These should not be a statement from the problem but they must be clear reasons for the possible success of each alternative. These might include:

Brown ‑ ensures components are robust, concentrates on connections which are important to the operation of the system, uses prepared components that will have been tested and supported by vendors.

Wilson ‑ produces a closer tie between goals and system specification, ensures components are specified without being limited to existing components, greater chance of not ignoring a required component.

Candidates providing 4 relevant advantages should receive 3 marks. Candidates providing 3 relevant advantages should receive 2 marks. Candidates providing either 1 or 2 relevant advatages should receive 1 mark

QUESTION 4

Assign 2 marks for each section and the fifth mark for the extent to which the candidate has appreciated the complexity of the issues involved and the dilemma they present.

(a)

The case here may include public health benefits from the extra information such as the chance of identifying causes not related to location, contacting patients with health messages and delivering remedies to the identified patients, contacting patients for additional details so that patterns can be verified. At least two relevant benefits should be presented for 2 marks.

(b)
The case here includes all privacy concerns such as possibility of public

identification of TD patients, unauthorised use of the data and questions of pemmission. There are concerns about the security of the personal data which could be misused in being provided to fourth parties e.g. commercial anti‑TD product marketeers. Two relevant points should be made for 2 marks although they may both relate to issues of privacy.

QUESTION 5

(a) advantages

the proposal ensures the security of the data by creating a backup in the event of loss on the central computer the proposal ensures the security of the data in the event of a disaster at the associations headquarters by storing the backup off site if "transferred" means that the data is removed from the central computer each month, then this will help ensure that the central computer hard disk will not become full, and the amount of data to be analysed will not unduly slow the process etc

disadvantages

the proposal jeopardises the security of the data as Kerry Smiths house is not a completely secure location for the backup the proposal jeopardises the security of the data as it is not sufficiently precise in terms of the procedures to be used in recycling the monthly backup tapes

the proposal does not address the question of disposal if "transferred" means that the data is removed from the central computer each month, then this will mean that only one month's data can be analysed at a time making patterns less readily discernible

(b) advantages

the proposal is simple to manage data which does not relate to 'TD' patients is removed from the central computer each month and this will help ensure that the central computer hard disk will not become full, and the amount of data to be analysed will not unduly slow the required processing etc

disadvantages

the proposal does not include any measures for ensuring the security of the data by backing it up

the proposal does not address the question of disposal of the data relating to 'TD' patients

To obtain

QUESTION 6

by removing the data relating to non 'TD' patients, it may subsequently be impossible to carry out statistical significance tests of the findings of the mapping analysis

5 ‑ 8 points should be listed

4 ‑ 7 points

3 ‑ 5 or 6 points

2 ‑ 3 or 4 points

1 ‑ 1 or 2 points ‑ ‑

Give one mark for each factor and use the fifth mark to reward the selection of important factors and the clarity and accuracy of the description.

Possible factors

· Speed

· Error correction

· Price Supplier reliability and support Warranty Installation and testing Documentation

QUESTION 7

4 marks should be allocated to i. and ii. The critical point is that after reading the answers to these two parts of the question, you are convinced that the candidate knows the difference between "system objectives" and "stated capabilities". Provided this is the case and the candidate makes one reasonable suggestion for each of i. and ii. then he/she should get 4 with 2 marks rewarding the understanding and 2 marks rewarding the suggestions.

The fifth mark is allocated to robustness and requires one sensible test of robustness.

(i)

Determine the necessary capacity required to hold the dental record data and check

disk size to ensure that it is adequate. The students do not need to say what is or is not

adequate because they do not have enough information to allow them to speculate.

(ii)

It would be necessary to use a program such as Nortons to check whether or not

transfer rates and capacity are as claimed by the manufacturer. It may also be possible

to find reviews of the particular equipment in which their capabilities are tested and

reported on.

(iii)

subject it to temperature variations and to a reasonable amount of shock.

QUESTION 8

Look at five different elements of the training scheme and they must involve a mixture of both positive and negative arguments. For each point, the students would be expected to justify the assertion and not simply repeat part of the case study. Candidates would only get 5 if they also made a summative statement on the suitability of this training strategy.

Overall the view of the setting panel is that, with specific exceptions, it is quite a suitable training strategy. However a student may use the specific exceptions to rightfully argue against this being a suitable training strategy.

Overall mark breakdown is as follows

One mark = one justified point Two marks = two justified points Three marks = three/four justified points Four marks = five justified points i One mark = summative statement

Relevant positive issues could include:

it is a sound idea for the program to be provided by the training deparUnent of the system suppliers i.e. by people who know the system very well

Dinh's hands‑on training on a like system is commendable

· activities solving common system faults would be appropriate for Dinh to enable him to recognise reported problems and determine the appropriate response.

Relevant negative issues could include:

it would make better sense to train Dinh before the implementation of the new system so that he has some prior knowledge of expected system faults and possible solutions

one could question the effectiveness of the one hour per week for three months ‑ a more concentrated approach might prove more useful

Dinh has to cope with his own job and then break off for his training.

QUESTION 9

Students are to identify five different factors to be considered to obtain five marks. Examples relating to factors can be drawn from the groups listed in the question. One appropriate example relating to each factor is adequate. Students do not have to mention by name everyone listed to obtain five marks.

Five examples of documentation do not represent five marks. If students list appropriate documentation for each person without explanation of factors they get two marks only.

Some factors could include:

NEED TO PROVIDE RELEVANT DOCUMENTATION

e.g. patients need to know that records are being kept, why they are being kept and disposal arrangements (public relations document)

BACKGROUND OF THE PERSONNEL CONCERNED

e.g. dentists will have some computer knowledge as they currently all use some form of hardware and software to store patient data

THE ROLE EACH PERSON OR GROUP OF PERSONS IS GOING TO PLAY

e.g. patients are not involved with the operational aspects of the system, dentists are responsible for the data entry, Dinh needs access to information which helps him in solving reported problems promptly

MEANS OF DISSEMINATION OF THE DOCUMENTATION

e.g. patients and dentists could have a handout leaflet, Dinh could have a book while the system support personnel could have technical manuals or on‑line aids

THE FORMAT OF THE DOCUMENTATION

e.g. Dinh could have a book organised according to a key relating to common system faults and problems, the university research staff could be given sample maps while the dentists could have leaflets outlining an easy guide to data entry and modem use which could be used as a user friendly quick reference.

OTHER FACTORS

e.g. Cost of document design & production. Candidates may come up with possibilities that they argue effectively as important factors. Assessors will have to detente whether or not these constitute appropriate responses.

QUESTION 10

In this answer students must recognise that we are evaluating the success of the implementation of the system ‑ what happens to the incidence of TD is not relevant.

One mark is to be allocated to each of the first three parts while two marks are to be allocated to part four as there is a need in this latter part for a greater understanding between system implementation and system goals.

(i) It would be quite acceptable for students to say that surveying patients is not relevant or useful. However if they comment positively they must only talk about the non‑operational aspects ofthe~system e.g. privacy.

(ii)
This is highly useful because if there is a communication breakdown between

the central computer and the dentists' computers, data will be lost and maps

produced by the system will be inaccurate.

Manual checking is highly useful to ensure that the data produced by the system is accurate.

(iv) These interviews are relevant to system goals but not relevant to system implementation except in so far as examining the quality of the output in terms of the readability of the maps. It is expected that students clearly distinguish between the system imple,,mentation and system goals in this section for their full two marks. One mark can be obtained by simply pointing out that there is

merit in asking the researc~ers about how useful the maps appear to be.
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GENERAL COMMENTS

The setting panel continued the pattern and style of questions established in earlier years. They were, however, prepared to allow the paper to be a little more challenging than in 1995 while still aiming to avoid more complex question structures or expanding the size and complexity of the case study. As has been the practice in the past, the criteria were used as the basis for setting the examination questions. They were not directly applied in the marking process. It continues to be our preferred position to have only one case study and to keep it as brief and as realistic as possible. There was general agreement from assessors that answers were longer in 1996 although there is no reason to believe that students left themselves short of time. The general standard of answers seemed relatively unchanged although raw marking data suggests that marks were slightly down. This probably reflects a more difficult paper rather than any overall change in the quality of students.

SPECIFIC INFORMATION

There were ten questions on the paper and five marks were allocated for each question.

Question-by-question details

Question 1

This question was generally well answered with a substantial number of students gaining four or five marks. There was some confusion over output with a number of students confusing the actual communication of the maps with output. For full marks, students were required to correctly answer all three sections. A mark was deducted if there was a lack of clarity or accuracy in the explanations. Answers giving two correct responses were allocated three marks and this was reduced to two if one or both of the correct responses were poorly explained. One mark was given where one element was correctly answered regardless of the quality of explanation.

Suggested response

Input was via modem and students suggesting keyboards as the input device were not given credit.

Manipulation included checking for the TD code and plotting on the map. Both elements were required for full marks.  Output was the printed map with dots.

Question 2

This question was successful in assessing an area which has proved difficult in the past. Although it differentiated effectively between students, most students managed to achieve three marks or better. Students generally understood the limitations of the system in relation to the citizens’ goals but tended to be a bit long-winded and repetitive. This may have been caused in part by the question.

Scores of five and four marks were reserved for students showing clear distinctions across the three answers, between system goals, community goals and the operation of the system. They clearly indicated that there was work beyond the system if tooth discolouration was to be reduced and they explained what sort of work might be involved.

Students who identified the fact that system and community goals were different but either could not explain this very well or suggested that, in the end analysis, both goals would be achieved were, at most, given two or three marks.

If students showed some sign, no matter how slight, that they realised this system would not necessarily solve TD, they were given one mark.

Suggested response

In section (a) the student were expected to differentiate between the objectives of providing data to the researchers and reducing tooth discolouration. It should have been clear from their response that the system goal was the mechanical process of providing data while the citizens’ goal was the reduction of tooth discolouration.

In relation to (b) the case study referred to the system goal being the provision of ‘relevant information to the dental researchers’. The key word here was ‘relevant’. Given that the researchers were wanting to identify the causes of TD, the student should have commented on the way in which the system output might provide relevant information. Clearly there was the possibility that the researchers may be able to identify a pattern which would help them find a cause. It was of course possible that there was no pattern and that the information was therefore less useful.

Section (c) led on from section (b) and asked students to explain how the proposed system might play a part in reducing tooth discolouration if the maps helped identify a cause and if the cause could be effectively responded to.

Question 3

This question proved to be one of the more difficult on the paper and this suggests that issues relating to system design require more attention in class. Answers did not have to use the expressions ‘top-down’ or ‘bottom-up’ but they did have to identify the distinction between the two approaches proposed. It is recommended that teachers devote some class time to a general discussion of different approaches to system design and look at several examples.

Suggested response

In section (a) the students should have indicated the differences in principle between top down and bottom up methods of system design, whether or not they used these exact terms. They needed to make this distinction in ways other than simply repeating the terms from the statement of the question. Well-explained distinctions received two marks and answers which suggested some grasp of the fact that there were two fundamentally different approaches on offer received one mark. In section (b) students were required to present two distinct advantages for each method. These should have been clear reasons for the possible success of each alternative. Possible responses included:

Brown – ensures components are robust, concentrates on connections which are important to the operation of the system, uses prepared components that will have been tested and supported by vendors.

Wilson – produces a closer tie between goals and system specification, ensures components are specified without being limited to existing components, greater chance of not ignoring a required component.

Question 4

This question worked effectively to discriminate between students. There is a tendency on the part of many students to oversimplify the issue of privacy and to ignore the fact that there are often two legitimate positions to be put in relation whether or not a given piece of information should be regarded as private or not. For this question, assessors were asked to assign two marks for each section and the fifth mark for the extent to which the students appreciated the complexity of the issues involved and the dilemma they present.

Suggested response

a. The case here may have included public health benefits from the extra information such as the chance of identifying causes not related to location, the opportunity to contact patients with health messages, to deliver remedies to the identified patients and to contact patients for additional details so that any apparent patterns could be verified.

b. The case here included all privacy concerns such as possibility of public identification of TD patients, unauthorised use of the data and questions of permission. There might also be concerns about the security of the personal data which could be misused if provided to fourth parties, e.g. commercial anti-TD product marketeers.

Question 5

This was one of the easier questions on the paper and raised no significant problem other than a tendency for some students to write far more than necessary. Where a question asks for a list, there is no requirement for extended explanations. Some students repeated themselves and it is worth pointing out to students that if a specific number of points are requested by a question, they should ensure that each point they make is clearly new and different.

Suggested response

a. advantages

· the proposal ensures the security of the data by creating a backup in the event of loss on the central computer

· the proposal ensures the security of the data in the event of a disaster at the association’s headquarters by storing the backup off site

· if ‘transferred’ means that the data is removed from the central computer each month, then this will help ensure that the central computer hard disk will not become full, and the amount of data to be analysed will not unduly slow the process etc. disadvantages

· the proposal jeopardises the security of the data as Kerry Smith’s house is not a completely secure location for the backup

· the proposal jeopardises the security of the data as it is not sufficiently precise in terms of the procedures to be used in recycling the monthly backup tapes

· the proposal does not address the question of disposal

· if ‘transferred’ means that the data is removed from the central computer each month, then this will mean that only one month’s data can be analysed at a time, making patterns less readily discernible.

b. advantages

· the proposal is simple to manage • data which does not relate to ‘TD’ patients is removed from the central computer each month and this will help ensure that the central computer hard disk will not become full, and the amount of data to be analysed will not unduly slow the required processing etc.

disadvantages

· the proposal does not include any measures for ensuring the security of the data by backing it up

· the proposal does not address the question of disposal of the data relating to ‘TD’ patients

· by removing the data relating to non ‘TD’ patients, it may subsequently be impossible to carry out statistical significance tests of the findings of the mapping analysis.

Question 6

This question was not as easy as the setting panel expected it might be. There were far too many students who gave rote answers which could be applied to any hardware purchase. Many answers were not realistic and failed to recognise the particular circumstances involved in the case study. We are talking about a dentist spending around $300 to buy a very common and widely available piece of equipment. It is unlikely to be necessary to run financial checks on manufacturers or to have lawyers check contracts and so on. Unfortunately too many students seemed obsessed with ensuring that they didn’t buy a ‘lemon’ and too few were going to check such a vital specification as speed.

Assessors were advised to give one mark for each relevant factor mentioned and to use the fifth mark to reward the selection of important factors and the clarity and accuracy of the description.

Suggested response

Possible factors included:

• Speed

• Error correction

• Price

• Supplier reliability and support

• Warranty

• Installation and testing

• Documentation

Question 7

This was the hardest question on the paper with the majority of students not actually understanding the meaning of any of the tests to which the question referred. Most students put forward rote answers which sometimes attracted one or two marks because the points made vaguely related to relevant tests. Clearly, the word ‘robustness’ is not in the vocabulary of the average Year 12 student. Teachers should be aware that the words of the question are drawn almost directly from the study design (area of study 4, Unit 4) and they should never lose sight of the importance of study design content to those who set the paper. Assessors were instructed to allocate four marks to parts i. and ii. The critical point was whether or not, after reading the answers to these two parts of the question, the assessor was convinced that the student knew the difference between ‘system objectives’ and ‘stated capabilities’. Provided this was the case and the student suggested a reasonable test in each case then he/ she should get four marks with two marks rewarding the understanding and two marks rewarding the suggestions. The fifth mark was allocated to robustness and required one sensible test of robustness. The decision to allocate only one mark in this area was made after we became aware of the fact that ‘robustness’ was so little understood.

Suggested response

i. Determine the necessary capacity required to hold the dental record data and check disk size to ensure that it is adequate. 

ii. It would be necessary to use a program such as ‘Nortons’ to check whether or not transfer rates and capacity are as claimed by the manufacturer. It may also be possible to find reviews of the particular equipment in which their capabilities are tested and reported on. 

iii. Subject it to temperature variations and to a reasonable amount of shock.

Question 8

This question worked well and was one of the better answered questions. Good students took the proposed strategy apart point by point and commented on its quality. It was a good idea to include both positive and negative features. If anything, answers tended to be too brief and it has been suggested that this may have to do with the question being near the end of the paper. The panel will consider changing the order of questions in the 1997 paper.

Suggested response

For four or five marks students were expected to look at five different elements of the training scheme and they must have involved a mixture of both positive and negative arguments. For each point, the students were expected to justify their assertions and not simply repeat part of the case study. Students only received five marks if they also made a summative statement on the suitability of the training strategy.

The overall view of the setting panel was that, with specific exceptions, it was quite a suitable training strategy. However, a student may use the specific exceptions to rightfully argue against this proposition and still receive full marks.

Relevant positive issues could include:

· it was a sound idea for the program to be provided by the training department of the system suppliers, i.e. by people who knew the system very well 

· Dinh’s hands-on training on a similar system was commendable

· activities solving common system faults would be appropriate for Dinh to enable him to recognise reported problems and determine the appropriate response.

Relevant negative issues could include:

· it would have made better sense to train Dinh before the implementation of the new system so that he had some prior knowledge of expected system faults and possible solutions

· one could question the effectiveness of the one hour per week for three months – a more concentrated approach might have proved more useful

· Dinh has to cope with his own job and then break off for his training.

Question 9

With the benefit of hindsight, this question may have been better answered had we not included the second sentence. It was intended to act as a guide to students but in reality it may have misled them. Whatever the cause, the vast majority of answers ignored factors entirely and simply listed examples of documentation relevant for each category of person referred to in the question. The result was a preponderance of low marks. Students needed to identify a range of factors if they were to obtain five marks. Examples relating to factors could be drawn from the groups listed in the question. One appropriate example relating to each factor was adequate. Students did not have to mention by name everyone listed to obtain five marks.

Suggested response

Factors and relevant examples could have included:

· The need to provide relevant documentation, e.g. patients would need to know that records were being kept, why they were being kept and any disposal arrangements.

· The background of the personnel concerned, e.g. dentists will have some computer knowledge as they currently all use some form of hardware and software to store patient data.

· The role each person or group is going to play in the system, e.g. patients were not involved with the operational aspects of the system, dentists were responsible for the data entry, Dinh needed access to information which would help him promptly solve reported problems.

· The means of dissemination of the documentation, e.g. patients and dentists could have a handout leaflet, Dinh could have a book while the system support personnel could have technical manuals or on-line aids.

· The format of the documentation, e.g. Dinh could have a book organised according to a key relating to common system faults and problems, the university research staff could be given sample maps while the dentists could have leaflets outlining an easy guide to data entry and modem use which could be used as a user friendly quick reference.

· There are other factors which would also be relevant such as the cost of document design and production. Students may also have come up with possibilities that they argued effectively as important factors.

Question 10

This question proved difficult to mark and there were relatively few excellent responses. Most students seemed unaware that a system could be successfully implemented without necessarily achieving the broader goals one might have hoped for, in this case the eradication of TD.

Answers attracting full marks were expected to recognise that we are evaluating the success of the implementation of the system – what happens to the incidence of TD is not relevant. One mark was allocated to each of the first three parts while two marks were to be allocated to part four as there was a need in this latter part for a greater understanding between system implementation and system goals.

Suggested response

i. It would be quite acceptable for students to say that surveying patients was not relevant or useful. However, if they commented positively they had to discuss the non-operational aspects of the system, e.g. privacy.

ii. This would be highly useful because if there was a communication breakdown between the central computer and the dentists’ computers, data would be lost and the maps produced by the system would be inaccurate.

iii. Manual checking would be highly useful to ensure that the data produced by the system was accurate.

iv. These interviews would be relevant to system goals but not relevant to system implementation except in so far as the interviews discussed the quality of the output in terms of the readability of the maps. Students were expected to clearly distinguish between the system implementation and system goals in this section for their full two marks

VCE CAT 3 ( 1997

Question 1

This question is designed to test the understanding of the phases. The question does not ask the full story of how the phase will change, just what it is now. A list of phases should gain no marks. Beware of the words rank and check as these are in the case study and indicate no understanding by candidates. They can be used in context.

a) This step should involve some comparison of information about payments (from the sales area) with details about the returned books (from the returns area). Look for words other than check that mean compare and search. Candidates would normally explain this by describing the search for a student name in a list, but any description that sticks to the manipulation tasks (searching, matching) and avoids other phases is acceptable.

b) The ranking process requires totaling book returns by school and sorting the school list in order of that total. Full marks should be reserved for candidates who see both manipulation tasks.

Use 2 marks for each part and 1 mark for the extent to which the candidate shows clear understanding of what manipulation of data might involve (remember that this might be naive and impractical. We are not assessing database theory here, just a general idea of tasks that are processing.)

Question 2

Possible goals include improving customer service (through increased accuracy, speedier refunds etc), cutting costs, and providing more information on things like returns by school which may lead to better decision making. Note that these can be related to mission statement lines such as increasing company profile, increasing repeat custom and competing. Many candidates will talk about system goals. Things like saving David time, speeding production of reports and such are system goals and lead only indirectly (if at all) to organisational goals. This indicates the candidate does not distinguish between the goal types and should not be given credit

Assign 1 mark for each clearly distinct goal that pertains to the organisation rather than the system. Assign 1 mark for the range of possible goals amongst the three and 1 mark for the extent to which the student has identified how closely the system is related to their organisational goals..

Question 3

The system proposed is bottom up. An alternative would need to include the properties of a top down strategy. This would include steps such as identifying system goals, defining the system, specifying the components and making the components. There is no requirement to talk about advantages of either strategy. An arguable alternative strategy is to purchase a system from outside (i.e. outsource the problem). This can be explained sufficiently for full marks but 2 mark responses are more common. Some candidates will focus on the solution for the problem rather than the design approach. A different solution that follows the same design approach does not satisfy the question or the criterion and should be score a maximum of 2 depending on how different the implied approach is..

Give 1 mark for any strategy, 1 mark for each of the items above, 5 marks for a clear description of a top down approach, correct use of the terms top down and bottom up should score a minimum of 2 marks.

Question 4

Management = improved efficiency and accuracy, improved information, potential for salary savings, potential for change management problems Staff ‑ better customer relations through improved accuracy, potential loss/change of job Customers ‑ quicker and more accurate refunds, easier dealings with company.

Some candidates will concentrate on problems due to change to the new system. This is OK if the potential impacts are not unreasonable.

1 mark for identifying a relevant implication for each person and 2 marks for quality and relevance of implications overall

Question 5

Candidates are asked to Justify a particular system component decision. The integration of databases has clear advantages in

Avoiding repetition of data

Ensuring data integrity

Limiting database storage requirements

Improving speed of processing data

There are some Justifications for fragmented data (performance considerations) but these are well outweighed and that alternative is wrong.

Justifications can also be non‑technical. Things like being able to access central data, saving space, increasing speed are common and acceptable components of an answer.

2 marks for choosing the right alternative, 3 for 3 good justifi cations, wrong answer with good justification scores a maximum of 1.

Question 6

The reasons for choosing a particular factor should be related to the nature of the component i.e. software writing. Factors such as proven track record, reliability, capacity, guarantee (and any other service 1evel.considerations) are important. We hope there will be no "compatibility of plugs and wires" answers here. Similarly remember this is a test of companies not software. Hence software compatibility is not OK where experience with the hardware or environment is.

1 mark for each factor

2 marks for diversity and relevance of three as a whole

Question 7

The candidate must show they understand the methods relevant to testing this system component. Note this is the same question as we asked in 1996!! 1) some mention of a method of comparing printer performance against the needs of the system. This would include speed, robustness and cost here as the reports are all internal. ii) some method for comparing performance against the manufacturers claims. Again the ideal answer would talk about speed, robustness and cost. 111) some method of checking that the printer would continue to be reliable in its normal environment. You may accept the football treatment suggestions that we have had in the past, but better answers will look at duty cycles and MTBF.

1 mark for each answer and 2 marks for a clear indication that they understand testing components from the sum of their responses

Question 8

This attempt at putting something useful into the question of training strategies should be seen in that light. Candidates will need to distinguish between the needs of the user (Janine) who needs to know how to read reports and where the system fits into the organisation as a whole. David will need to know everything from how to get the computers maintained to how to identify and have fixed software problems that arise. 5 mark answers will clearly demonstrate this dichotomy.

2 marks for each person and 1 mark for demonstrating understanding of the difference in needs. Since Janine does not have as much to learn you may accept 1 thing for Janine and 2 for David as minimum numbers of things to be learnt.

Question 9

i) Content will be very simple instructions on how to get reliable readings from the barcode reader and how to point, click, drag and drop with the mouse. These would be non‑technical level documents.

ii) the format would be large poster or card so that new users can have the instructions near the machine in an easily read form.

iii) Suppliers of the equipment should produce the content and a graphic bureau produce the finished format.

This question has been very poorly done this year. You should award marks for things that are there so as to discriminate between candidates.

1 mark for each part and 2 marks for showing an overall understanding

Question 10.

The answer should clearly be about efficiency not effectiveness. Measurements of any of the following would be helpful

Speed of report production

Cost of report production

Effort required

5 mark answers would normally have parameters for three of these issues that need to be measured to adequately evaluate efficiency. Each parameter must be related to efficiency rather than effectiveness. Because previous papers have asked "who" or "how" questions about documentation does not mean we have this year. The question is "what" to measure and this should be in the response.

Survey not accepted

No credit for effectiveness measurements

No three word answers 1 or 2 marks eg I would measure cost, time and effort gets 2 marks

VCE REPORT 1997 

Information Processing and Management CAT 3: Written examination (1997)

GENERAL COMMENTS

This year’s paper continued the pattern of presenting a small case study, and questions phrased around the criteria and marked on the value of student responses to the case-study situation.  Students who were able to relate the criteria to a reasonably realistic case study would have been well prepared for the examination.

The standard of answers this year was similar to that for 1996. Questions continued to test students’ understanding of the concepts of the criteria. Memorising of lists would not result in good marks in the examination.

The large number of students who copied lines from the case study or the question for their answers was disappointing. There also seemed to be too many students who had prepared answers, often to the previous year’s paper. Teachers can assume that prepared answers or attempts to find answers as text in the case study will result in very poor marks.

SPECIFIC INFORMATION

There were ten questions on the paper. Each question was allocated five marks. When a question was in parts, each part carried equal weight.

Question-by-question details

Question 1

This question was one of the most poorly attempted, and few students were awarded five marks. Students who were determined to list all phases showed little understanding or even knowledge of the phases. The criterion to be considered in this question required students to show understanding of the impact of change on any phase. The examination will continue to test students’ understanding of phases. Ability to recognise activities in a phase is essential for any understanding of how the activities might be changed. Students were required to find some processing tasks that might be applicable to the case, not to analyse the situation in terms of database concepts.

Suggested response

The activities required for this step involved comparison of a name from the Book Returns system report with the list of paid items in the Sales Area system report. The processing tasks involved are searching and comparison. For these concepts, use of any related terms and description of any process earned full marks.

Question 2

Some students did not attempt this question at all, and many others listed system goals rather than organisational goals. Credit was given to organisational objectives at any level, from organisational aims through to more-general objectives that might form part of a mission statement. Students need to understand organisational goals and types of information system and their interaction.

Some credit was given for system objectives, but students needed to have clearly identifiable organisational goals in order to be awarded full marks.

Suggested response

Possible goals include improving customer service (through increased accuracy, speedier refunds, etc.), cutting costs and providing more information about issues such as returns broken down by school, which might lead to better decision making. For full marks, the answer required three goals at an organisation level that might be related to the new system.

Question 3

It is gratifying to find that compared with previous years’ students, many more students demonstrated knowledge in this area.   Some students, however, continue to show no understanding of what a design strategy might be.   Common among successful students is an understanding of terms such as ‘top-down’ and ‘bottom-up’.   Although these terms were not required, they were included in most good responses.   Rather than address the issue of design strategy, many students outlined a different solution.   These responses were given credit to the extent that the solution implied an alternative strategy.

Suggested response

The stem to the question proposes a bottom-up strategy. The alternative is a top-down design. To be awarded full marks, students needed to describe the important features of a top-down design strategy, including:

• starting with system goals

• defining system requirements

• breaking the system down into smaller components

• specifying the components

• constructing components.

These could be stated in various ways; no special list of steps or words was required.

Question 4

This question was done well by most students, although some students listed every type of implication that might result from any new system. It is difficult to see how customer privacy is affected by a change to a system that automates comparison of already existing data. Some students ignored two of the three stated stakeholders and therefore could not be given full credit.

Suggested response

Implications include:

Management

• Improved efficiency and accuracy

• Improved information

• Potential for salary savings

• Potential for change-management problems

Staff

• Better customer relations through improved accuracy

• Potential job loss

Customers

• Quicker and more accurate refunds

• Easier dealings with the company

Question 5 (1997)

The advantages of combining the data were overwhelming, and very little credit could be given to justifying the alternative. This question discussed storage of data. No database concepts were required. Generally, students performed well on this question.

Suggested response

Possible justifications for integrating the data include:

• avoiding repetition of data

• ensuring there is data integrity

• limiting data-storage requirements

• improving speed of data processing.

These justifications could be expressed in any language. No advantage was given to students who used database terminology.

Question 6

In the past, this concept was tested in terms of choosing between hardware suppliers. To be awarded maximum marks, students needed to focus on factors related to software producers (as opposed to the software itself). Many students gave a list of issues related to suppliers in general, some of which did not apply to software companies.

Suggested response

Important factors could include proven track record, reliability of the company, capacity issues for the company, guarantee and other service-level considerations.

Question 7

Responses had to include issues to do with testing printers as devices and the case-study requirements . This area was addressed more successfully this year, but many students remain unaware of either the differences between the tests or what activities might be used in them.

Suggested response

i. Tests should be related to the needs of the system; issues of speed, robustness and cost are relevant to the case study. High quality of output and graphics are not mentioned in the specifications.

ii. A method for comparing the characteristics of the printer with the claims of the manufacturer is required. This could include testing the machine for speed, etc. or indirect methods such as asking other users about the machine. Claiming the manufacturer has more resources than we do for testing and should therefore be trusted shows little knowledge of testing techniques.

iii. Student have tended to get carried away with the robustness issue. Although dropping the printer from the window and running over it with a tank might indicate knowledge of the term, more interesting tests include testing performance in warm or dusty rooms, looking at duty cycles and checking MTBF.

Question 8

This was the best answered question in the paper. Most students pointed out that David needed to learn a great number and range of skills. Disappointing, however, was the average knowledge about the needs of a manager. Student responses varied from Janine being the manager and therefore her needing to know ‘everything’ to Janine’s needing to be able to perform ‘David’s old job’. Students should have a sound idea of what a manager might require from an information system.

Several students answered a 1996-paper question about methods for training each person. It was difficult to give these answers any credit.

Suggested response

David is to be system manager and will therefore need to move on from comparing computer hard copies to managing a computer system. This will require technical knowledge as well as an understanding of information-management issues. Any description that showed an understanding that David had a wide range of things to learn was awarded full marks.  Janine rather than David is the recipient of reports direct from the computer. This job could require either no learning or some knowledge of how the computer prints the reports. Either answer was given full credit.

Question 9

Although the question was well handled by most students, there were some prepared answers in which the students responded to the 1996 examination. Many students gave lists of every type of documentation they could remember. Commenting on technical reference manuals for a mouse shows little understanding of the needs of counter staff in an organisation. Students should be prepared to match issues from the study design to different circumstances. Some students showed little recognition of the types of issue to be considered when documentation is being prepared. During conversion from keyboard to barcode and mouse, training needs are minimal, and this should have been indicated in the response.

Suggested response

i. The content should include simple instructions for use of a barcode reader and mouse and for what to do when the input device does not work as expected. This can be of a very basic level, because the operations are very simple.

ii. The format should be large and clear and placed near the devices. A poster or an instruction card, for example, could be used.

iii. The manufacturer of the equipment is a sensible source for the instructions.

Question 10

This was the least well answered question in the paper. The students who were familiar with evaluation seemed to be unable to differentiate between efficiency and effectiveness.  Considerable variation was allowed for in terms of what might be the most appropriate measures of efficiency, because the question left open the number or importance of measures.

Suggested response

The main issues to do with efficiency include the new system’s speed, cost and accuracy. Measures of how well the system is meeting company aims are not measures of efficiency. Speed can be measured by testing the time taken to produce reports, cost can be measured by measuring the total costs of producing reports and comparing them with the old system, and accuracy can be measured by comparing reports that have known results. Other issues to do with efficiency were given merit when the response included a parameter to be measured and the issues were clearly not measures of effectiveness

VCE CAT 3 ( 1998

Question 1

The touch screens should be faster than hand writing, much more accurate in what they choose but less accurate in recording the problem and treatment since they allow also could cause problems if wrong part of screen pushed , and allow a very limited range of inputs (only the ones in the list).

1 mark for faster

2 marks for discussion of accuracy

1 mark for restricted ranae

1 mark for additional point in speed answer or ranee answer.

It is possible to make the case for slower access 1 the candidate talks about the problem of an illness or treatment not being listed and the doctor taking some time to decide tile nearest.

Question 2

The new system will make recording. full medical diagnosis very difficult except in very straight forward cases. 'File efficiency can be increased due to faster entry even if this is not effective in recording visit information. The prediction of medicines and equipment needs should be well supported by the information generated by the system as it is designed in this way.

1 each for more efficiency through increased speed and/or decrease in effort of entry and/or retrieval

1 for not all details can be entered

1 for stats call be collected easily due to computer storage and arrangement 

1 for stats will give estimate of supply needs

1 for any other relevant consideration such as case of analysing. from computer rather than paper

Responses that just say efficiency will be greater but give no reasons should score a maximum of 2 marks

Question 3

Top down strategy means determining the nature of the problem then decomposing into sub problems

Students should make 5 point from the following

Overview of problem first

Decomposition into smaller problems

Start with description of needs of system from touch screen to analysis of data

All components will be sure to fit together

Touch screens etc will have no compatibility problems

Software components will match

Longer time for introduction of first components since system must be designed as a whole before starting

A rote list of Top‑down features not mentioning the case should get a maximum of 3

Question 4

Possible implications include

Potential for this system to be used to decrease clinics' receptionist/secretarial staff and the time patients are with doctors and therefore the lower costs may be passed on to patients making healthcare more accessible.

Potential for this system to enable doctors to have more time to focus oil patients' problems rather than on paperwork and thereby. increasing the quality of their services

Doctors will be restricted in the type and range of data they can enter into the system and this may influence the diagnoses and treatment they provide

It could be possible that important differences in symptoms (such as severity) of problems will no longer be available from patients' histories affecting doctors diagnoses

The potential for incorrect data to be entered may be increased, see above

The potential for inappropriate treatments to be provided may decrease, see above

The chance of a clinic riot having appropriate supplies should be diminished

Patient confidence in the system may be affected by use of technology

2 marks each for two distinct implications and a single mark for the third implication.

Privacy of data is not an issue except where transmission to the central system

Candidates talking about computers in the surgery being less private that folders should get no credit. Lists of every type of implication possible without reference to the case should get a maximum

Debatable is the issue of increased diagnostic power through support for the doctor from a set of data stored on the computer. The case specifically mentions that the problem will be approximated but can be seen to imply that a set of alternatives will be offered for treatment. Hence the implication that diagnosis will be improved is wrong, but the implication that treatment will be improved since doctors get a range of treatments for a condition is worthy of a mark.

Question 5

Responses must focus on the issue of diskless workstations. You will find some candidates that talk about advantages of the computer system over the manual.  These responses get no credit at all 

Choose from

+ diskless workstations are cheaper

+ backup of data is more manageable as it only needs to be done on one compute,'

+ more suited to the collection of data for analysis

+ patients records are accessible at any clinic managed by PP rather than only at usual doctor

- high quality communication lines are expensive

- greater concern about privacy of patient info

- if the communication lines fail, the whole system is down no data retrieval, no operating system or software

- if the central computer fails, none of the other computers can be used

2 or 3 marks for 2 advantages, 2 or 3 marks for 2 disadvantages, 1 for a good answer

Question 6

Note this is a question about software compatibility.  1 mark should be given for disk drives, plugs and pins etc. Correct answers will refer to need for software to have correct drivers for screens, to accept data from screens (another function of the driver) and to be able to run the software on the operating system. The criterion here is "choosing system components‑ so answers should show the student knows how to go about choosing software that is compatible.

5 marks - good answer concentrating on software, need to interface to screen to operating system and/or application software

3 marks ‑ candidate clearly indicates an understanding of software compatibility but has not specifically mentioned this case 

1 mark ‑ some knowledge of compatibility

Some candidates will give answers to last years question relating to software suppliers.

These responses get 0.

Question 7.

Speed is measured by pushing the screen (either with a doctor or a machine) as quickly as needed to find the speed. Accuracy would be measured by pushing set spots on the screen and seeing, if the right answer is returned. This can be done by doctor or by machine or by checking specs or by asking other users of the screens. All responses must talk about speed and accuracy so "ask another user about screen speed‑ is good but "check stated characteristics and ask another user" scores 0.

5 marks for clear statement of both speed and accuracy measures for screens

4 marks for unclear statement of both speed and accuracy for screens

3 marks for clear statement of either accuracy or speed of screens or both but riot mentioning screens

2 marks for some accuracy or speed measure riot related to screens

1 marks for some mention of testing

Remember that this question is about the screens and choosing between them.  Responses that focus on the whole application can score a maximum of 2 and must talk about speed and accuracy measures.

Question 8.

i. Jo should be trained by the company writing the software

ii. topics can include: running the menu driven system, checking that stuff has been changed properly, backup before and after changes, version control, enough hardware

stuff to know where the new versions are being stored, authorisation issues,

2 marks for who, 3 marks for what.

Question 9

Clinic doctors will have a card showing simple operational requirements such as turn on and entry stuff.

Jo will need to have menu hierarchies for her program and some idea of how to check changes

1 mark per relevant content with a maximum of 3 for each person

Rote answers detailing all users or all documentation types have a maximum of 2 and usually would score less.

Question 10.

i) efficiency is measuring speed, effort or cost. These can be gained by some means of testing number of entries per minute or asking users about effort. This could be by asking doctors, measuring their entry rates or comparing the cost per entry of paper vs the new terminals.

The second goal is appropriate amounts of supplies. This can be measured by number of times out of stock or by excess supplies at end of week.

ii) Can get data from computer or by on site surveys of the data.

2 marks for each goal and 1 mark if method and data items match. Both goals must be covered for 5, 1 goal may score 3 if done properly.

A rote efficiency answer or goals answer “I would see if the company is making more profit" should score a maximum of 1.

Information Processing and Management

CAT 3: Written examination 1998
GENERAL COMMENTS

This year’s paper was handled with a similar level of competence as for previous papers. As in previous years, the ten questions were given equal weight and directly addressed each criterion as detailed in the Study Design. Students were often well prepared, but a number of students had prepared answers and these were seldom appropriate to the criteria as applied to the case study described, and therefore achieved less than full marks.

SPECIFIC INFORMATION

Question 1

Each year the setting panel attempt to make an allowance for nervousness by ensuring that the first question on the paper is a little more straightforward. This year that attempt was successful and Question 1 was among the best attempted for the paper. Students were given credit for responses that showed some analysis of the case in the required area.

Typical responses that received credit included:

• The touch screens should be faster than handwriting, much more accurate in what they choose but less accurate in recording the problem and treatment since they allow only a set list of possible alternatives.

• The help doctors may get from having a list of problems presented or the problems with speed when adjusting to new technology.

Question 2

This question was very well handled with most responses scoring 60 per cent or better. A disappointing number of responses answered the question from 1997, or gave a statement apparently memorised from classes on defining goals of one kind or another. Students should address the question in terms of what they have learned rather than repeating blocks of text or presenting pre-prepared answers. Good responses generally presented good and bad points using the two points to be addressed. These included: the new system will make recording full medical diagnosis very difficult except in very straightforward cases because of the limited number of alternatives presented (compared with the doctor writing free text descriptions of an illness), and; the prediction of medicines and equipment needs should be well supported by the information generated by the system as it is

designed in this way.

Question 3

Responses to this question demonstrated a poor knowledge of design strategies. The Study Design mentions two specific alternatives in design strategies. Responses tended to be bimodal, with some demonstrating absolutely no knowledge of a design strategy or what ‘top-down’ might refer to, and a significant number of responses giving a good description and applying it to some aspect of the design of this system.

Question 4

The area of implications was handled fairly well and almost all responses showed that students had some idea of what the area might include. Well-written responses that scored less than full marks usually listed possible implications of any technology change, but had no relevance to the case study. In particular the implications should have been ones possibly experienced by patients. Some responses spent considerable effort on one implication when the question asked for three. Good responses considered different types of implications and this assisted students to be clear in their consideration of the possible effects.

Implications might include:

• Potential for this system to be used to decrease receptionist/ secretarial staff of clinics, and the time patients are with doctors, resulting in lower costs which may be passed on to patients, making health care more accessible.

• Potential for this system to enable doctors to have more time to focus on patients’ problems rather than on paperwork and thereby increasing the quality of their services.

• Doctors will be restricted in the type and range of data they can enter into the system and this may influence the diagnoses and treatment they provide.

• It is possible that important differences in symptoms (such as severity) will no longer be available from patients’ histories, thereby affecting doctors’ diagnoses.

• The potential for incorrect data to be entered may be increased.

• The potential for inappropriate treatments to be provided may decrease.

• The chance of a clinic not having appropriate supplies should be diminished.

• Patient confidence in the system may be affected by use of technology.

Question 5

This question was generally very well done. Responses should have focused on the issue of diskless workstations. Some responses focused on advantages of the computer system over manual practices, but this did not address the specific concerns of the question. A common argument was that diskless stations mean that there is no possibility of backup, but this argument should have been modified by talking about local backup. Preparation of students should include appreciation of computer systems that include more than one PC.

Question 6

The question of compatibility has not been addressed in papers for some time. It may be coincidental that this question was also one of the most poorly handled. Of the responses showing some knowledge there were some that only addressed issues of hardware compatibility. Correct answers referred to the need for software to have correct drivers for screens, to accept data from screens (another function of the driver) and to be able to run the software on the operating system. The criterion here was ‘choosing system components’, so answers should reflect the student’s ability to choose software that is compatible. Some students gave answers to the 1997 question relating to software suppliers and scored poorly.

Question 7

The question was fairly well handled, with most students scoring some marks, but fewer scoring full marks. Frequently the key words of ‘speed’ and ‘accuracy’ were ignored. General comments about robustness and asking suppliers what they thought, without mentioning any specific tests, were commonplace. Responses needed to mention that speed could be measured by pushing on the screen (either with a doctor or a machine) as quickly as needed to find the speed. Accuracy would be measured by pushing set spots on the screen and seeing if the right answer is returned. This can be done by doctor or by machine, or by checking specs or by asking other users of the screens. All responses should have talked about speed and accuracy. Comments like ‘ask another user about screen speed’ is relevant, but ‘check stated characteristics and ask another user’ scored low.

Question 8

Although measuring understanding of training strategies is difficult, students did very well on this question, which required a fair level of analysis. Best responses mentioned: 

• Jo should be trained by the company writing the software.

• Topics can include: running the menu driven system, checking that entries have been changed properly, backup before and after changes, version control, enough hardware knowledge to know where the new versions are being stored and authorisation issues.

Some responses gave general rules about training and failed to address the specific question.

Question 9

This question was handled well with many responses earning full marks. Good responses commented on such issues as:

• Clinic doctors will have a card showing simple operational requirements such as turn on and entry process.

• Jo will need to have menu hierarchies for her program and

some idea of how to check changes.

Poorer responses that scored some marks gave general comments about documentation with little relevance to the tasks required of the people mentioned. Descriptions of all possible documentation types, more relevant to previous years’ questions, generally scored poorly.

Question 10

The question specifically addressed the goals stated in Question 2. As these goals were placed on the same open page it was disappointing to find many students ignoring them. Students who did look again at the stated goals generally scored well and usually mentioned:

• Efficiency is measuring speed, effort or cost. This data can be gained by some means of testing number of entries per minute or asking users about effort. This could be by asking doctors, measuring their entry rates or comparing the cost per entry of paper compared to the new terminals.

• The second goal is appropriate amounts of supplies. This can be measured by number of times out of stock or by excess supplies at end of week. A rote efficiency answer, or goals answer such as ‘I would see if the company is making more profit’ were given some credit. 

VCE REPORT 1999 

Information Processing and Management CAT 3:Written examination 

GENERAL COMMENTS 

As in previous years the CAT 3 paper included ten questions, each of which was related to a specific criterion. Results of marking indicate that the level of difficulty of the paper was similar to previous years, although a slightly higher proportion of students achieved very good scores. In general, students with poor results were those who attempted to gain marks by ignoring the case study and repeating memorized answers which had no relationship to the questions asked.

CASE STUDY

The Keen Loan Company have branch offices in most cities and provide loans for people wanting to buy cars, boats and other items. Currently, when a customer applies for a loan, the following procedures apply. 

•A consultant helps the customer to fill out an application form with their personal details.

•The details are entered into the computer at the branch.

•The details are transferred to the company ’s central computer through their network.

•The consultant checks the size of the loan request against the value of the item to be purchased with the loan.

•The consultant uses a computer connection to another company called the Little Credit Check Agency. This agency keeps a list of people who have not repaid loans. This computer connection is used to see if the customer has credit problems.

•The consultant types all the information from the application form and the credit check computer into the branch computer. The central computer makes a decision on whether the loan should be granted.

•The customer is then informed on the branch computer screen that their loan has been approved or rejected.

•Approval loans result in a contract being signed at that time. A cheque for the amount of the loan would be posted to the customer the next day.

It is proposed that a new system be implemented to allow people to obtain loans from the company and that most branch offices be closed. The new system would mean people who wanted a loan could contact the company at their Internet site on their home computer or a public Internet computer such as in public libraries.

This system would use the current central computer in the same way as the old system.

When applying for a loan with the proposed new system, the following procedures would apply.

•The person would type their details, the amount of money they wish to borrow and the item they want to buy onto an Internet page.

•The new system would check the size of the loan against the value of the item to be purchased.

•The proposed computer system would then check the person ’s details with the Little Credit Check Agency.

•The central computer would make a decision on whether the loan should be granted.

•The customer is then informed on the Internet page that their loan has been approved or rejected.

•Approved loans result in a cheque for the amount being posted to the customer the next day.

Question 1

Of the following information processing phases – input or manipulation (or processing)or communication – which phase will be most affected by the new system? Describe the way in which the phase will be affected.

The input phase will be changed by having applications typed rather than being entered on a form and then typed in by a consultant, and questions being asked in writing on the screen rather than with human assistance.

Many responses identified the communication phase as being most affected. Although communication with customers will change markedly, the communication phase involves communicating the output of the system, which will be done in the same way as before the change.  Generally, the responses indicated a poor understanding of the phases.

Question 2

It is anticipated that the new system will cut the cost of handling loan applications. Explain how the new system could cut costs.

The main organisational goal mentioned for the system was to close branches. Although there are other potential cost savings, good responses were expected to mention this goal and how the system might contribute to it.Some credit was given for mentioning the possibility of replacing consultants, but these are not company goals and other costs savings such as printing costs were seen as valid but not crucial.

Question 3

The system will be developed by the creation of new components to perform tasks such as answering Internet enquiries and performing checks automatically. These new components would then be joined to each other and to the existing components.

a. Identify this design strategy.

b. Explain

(i)an advantage of this design strategy

(ii)a disadvantage of this design strategy.

The outlined strategy is ‘bottom-up ’.Advantages of ‘bottom-up ’ include initial speed of construction, more robust individual components and lower initial costs.  Disadvantages include possible lack of cohesion and interface of components and long-term problems with maintenance, higher long-term costs and speed.  There were many students who did not show any understanding of the idea of a strategy and commented on the solution.

Question 4

Describe two legal implications of using the Internet in the loans process.

Credit was given for some legal implications that were of minor importance, but only those related to using the Internet in the new system scored full marks.  Legal implications include new ways of committing fraud, possible breach of privacy laws by the bank or interception of the messages and intellectual property problems with the bank application or data gathered by the process. Many students wrote about privacy or security in general ways. These were given some credit.

Question 5

A study has found that while 90 per cent of potential customers have computers, only 40 per cent are connected to the Internet. To overcome the problem of many customers not being connected, the company has two proposals.

Proposal 1 –A set of modems and software be purchased and loaned to any potential customer for two weeks for them to use the system.

Proposal 2 –A floppy disk with software be posted to each customer without Internet access. The customer would then post the disk back to the company.

Explain two disadvantages of each proposal.

Disadvantages of Proposal 1 include cost of process, difficulty in installation and training, possible damage and loss of the loan items, use of modem and Internet connection for other things, software license and copyright problems.

Disadvantages of Proposal 2 include compatibility, postage problems such as incorrect address or interception and viruses on returned disks.

Generally students handled this question very well.

Question 6

In investigating the option of buying modems it is found that two well-established local companies with good reputations and the same warranties have offered to supply the same brand and types of modems. Describe two factors that you would use to choose

between these companies. Explain why each factor is important to the decision.

No credit was given for factors mentioned as being the same (like warranty, reputation or brand of modem).Relevant differences remaining include cost, type of support and installation help offered. Prepared answers did not fare well in this question.

Question 7

The new system will require hardware that can accept data from 100 Internet requests each minute.

a. What test would you perform that would check that the speed of the hardware met the system requirement?

b. What test would you perform to ensure that data gathered from the Internet was accurate?

System requirements can be met by looking at the number of requests that can be met in each minute. Accuracy is determined by sending known requests and counting the number of them that are received accurately. Accuracy can also be measured by input data validation.

Many students just gave a name of a test. Another common poor response was to restate the question ‘I would test for required speed by testing the speed of the system ’.

Question 8

It is proposed that some of the current branch consultants be used to answer telephone enquiries about how to connect to the company using modems. They will need to be trained.

Two possible topics for training are:

• Common problems with modems and what to do to fix them 

• Technical details of how messages are transmitted along phone lines.

a. Choose one of these alternatives and justify your choice.

Two alternative formats for training are:

• a self-paced, multimedia, computer-based training on how to search on the Internet

• a half-day session working with an experienced telephone consultant as queries are answered.

b. Choose one of these formats and justify your choice as part of the strategy for training the consultants. ‘Common problems ’ is best and this could be justified by comparison or by explaining that this is an obvious problem that would need to be answered.' A half-day session ’ is best and could be justified by comparison or by pointing out that this is the relevant format for a person who is to do that job. Students generally handled this question very well.

Question 9

It has been decided to provide documentation to aid new customers applying for loans. The documentation would explain how to connect to the Internet, how to find the site and a phone number to call for help with connection. This documentation would be placed on the opening page of the company ’s website. Comment on the appropriateness of the content and format of this
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